4

<

Machine Tools Price

PO1.

BESNE-BEEEIN
Carbide Milling Cutter

Linkedin

E-mail:eva@mzgtool.cn

2 a8 bl e L a8 Sl
Scanning, Contact Us

mE— P16.

Q&\J o8 a8 t\J}u BIBTI NV EN )Jjje.u u
=

External Cylindrical/Inner Hole s i ces..3

P0O2.

Ol 208
Cemented Carbide Cutter

meen = P17.

DV G Gios ] Ao '
Grooving/Cut-Off Turning Tool ,

PO3.

S50 A a gy 055 S
Extrusion Screw Tap

0L 1o [ Sp e s s ISA 5 )5
End Face/lnner Hole s s

P04.

EEPT

Apex Tap

B —— P19

U135 )12 CNC v -~
* CNC Turning Tool

PO5.

s-~spiral grooved
Spiral Grooved Tap

e ——p P20

oAl 5 alakd CNC i #/@
* CNC Turning Tool Parts i“

P0G.

Gl oala [ Gusd jud
Hand Tap/Circular Die

P21.

S8l Cl ) 3lae Ui BAP - é
et 5 BAP —

SERT
= JoU G o Ghgm ol - s
P07 s ccwmT. CNMG.. P22 Machine—CI:mpidRL::n(;)AN);seMilling Cutter %
P08 , DCMT DNMG.. P23 !(l\mz.. SEHT.. &239 P3200..
ol g s B ye Jad 4ia s & K ;
Pog u SCMT. SNMG.. P24 EOCkin:Tuf:::hTypeCutteglnsertc;;pe(}i:&ﬂ

P10.

TNMG.. P25

02338 4w i) > i %ﬂ
Boring Tool 4 i." /ﬁ/ﬂ\“‘

P11.

VNMG..

P26.

s2:5€ 4iua ) 3l Holder q:
Boring Tool Holder

P12.

WNMG..

P27.

ER.. @ ‘FMA/B. . i

P13.

& o se A e Dl

Thread Turning Tool

8 rPos.

GSK.v a’-\DS. X APU. ’

P14.

SpsS @labd Gaila s [ s

Cut-Off/Grooving/Back Turning Of Small P;rts‘ P2 9 .

S5 o313 guila 23153 CNC % ‘?i
CNC Tool Holder Accessories =

P15.

O ol 5SS 5 1)

External ...« Turning Tool

Q -

Lathe ChuckAccessorles nb @ w

cola 5 (6 HIKE) HI (s HISE) I (o) 4d a5 Hlda LJIIJ‘J‘)TJ ) Al Lg.'\_'a_.a‘)i;\;\

Professional Turnin

Mil lin

Threadingiand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

Ohae (B0 a8

Carbide Milling Cutter

230 2055 e olam sl by [ 250 2155 ea e sla Ry 353 2155 om olpm 53U (i 5y 250 33 e oae 53U sy Nano Blue Coatings Can
£o 553 3HRC o0 533 3¥5HRC oA i3 Y 8HRC v ) 2Y 8HRC 10 i) a¥sé i sHRC
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
E#J L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R R R R R
ess—— G 4% AL
PN | f : i b"h 5"»
sk L1 220 @l 23l 55 o sl (A b 58 B e i i
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50  |RO. 5x2xD4x50 20] 26 2.7 | 3.1 4.6 5.1 5.1 5.715.7
1. 5x4xD4x50  |RO. 75x3xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 (26 2.7 | 3.1 4.6 5.1 5.1 57|57
2. 5x8xD4x50  |R1.25x5xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
3. 0x8xD3x50  |R1. 5x6xD3x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 4.4 5.1 7.1 7.7 (7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 (4.4 5.0 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 5x10xD4x50 |R1.75x7xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.7 126 3.4]27] 3.1 9(44]146] 60 6 67151161561 [61[57[57]7.6
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[ 4451 1 711 7.9 6.6 816781 7.7|(7.7]|8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3[141]16.4]5.0]5.4 7 7.6 9.0 7.8191179(91(87(8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 37147 ] 6947|506 7 8.119.3 9.5 |111.6] 9.6 [11.6(10.7[10.7]12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 (7.7(7.4(8.1 N 11.3(13.5 13.0113.0(14.7
5. 0x13xD5x100 |R2. 5x10xD5x100 | 6.6 | 7.6 | 11.0[ 8.9 [ 9.6 | 11.1 13.0115.7 16.3(156.3]17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143) 6414757 .4 8.1[19.3 9.5 [11.6] 9.6 [11.6[10.7]10.7[12.3
6. 0x15xD6x50 |R3. 0x12xD6x50 31143 644757 41 7.4(181]9.3]09. 10.5( 9.5 | 11.6[ 9.6 | 11.6[10.7[10.7[12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 49156 7.1|7.4(81]10.0 1.1]112.4 11.4113.611.413.6[13.0(13.0| 14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6(15.0 13.4(16.3(13.4(16.3[15.3|15.3|17.3
6. 0x30xD6x150 |R3. 0x12xD6x150 | 12.3 | 14.3|18.7[18.7|19.9|23.4 27.6 26.5 26.6 26.3|26.3[29.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 [10.4( 8.4 (10.0(13.3| 13 [13.9(156.2[156.3(16.5[15.3[18.4(15.3(18.4[17.6]|17.6|20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.119.4111.6[11.0(12.4]15.3 17.6(19.3 17.7(21.1(17.7(21.1120.0|20.0(22.6
8. 0x35xD8x100 |R4. 0x16xD8x100 | 9.6 | 11.1 | 14.0(14.0|15.4|19.6 21.4123.8 22.1(26.6(22.1126.6]125.0|25.0(28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0/45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 (12.7 (16.6]15.1]16.6|21.6|21.4(23.3(25.7(24.3|126.2|24.7(30.3(24.7130.3]|27.7|27.7(32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3 | 21.3 | 29.1 30.3(33.1[32.5|34.8(31.3|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7|39.4 | 41.7|48.3 56. 1 54.4 54. 4 54.7154.7]63.0
12x30xD12x75 |R6.0x24xD12x75 | 14.9 (17.4(22.0]21.1|23.3|28.7|28.3(33.1(36.4(32.9|35.5|32.6(39.4(32.7139.4]37.0|37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5)|148.6|52.4143.5|47.3|143.6|47.3147.0|47.0|53.0
12x50xD12x150 |R6. 0x24xD12x150| 34. 3 | 40.0 | 50.7]49.3|52. 1| 60.3 72.9 70.7 70.7 77.6177.6(85.6
14x35xD14x80 |R7.0x28xD14x80 | 25.6|29.7 32.3| 34.1 49.3 54.3| 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6(38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57.9 64. 6] 68.3 95.4 91.2 91.1 100. 6[100. 6
16x40xD16x100 R8. 0x32xD16x100 35. 7 | 38. 9 51.0153.0 63.6174.0 67.4| 73 |72.8 72.9 78.7178.7191.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0(91.0 129.0 116.3 116.3 127. 6[127. 6|143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1(65.1 89.7 82.3(87.9(88.4 88.4 96.7(96.71111.3
18x65xD18x150 |R9. 0x36xD18x150| 74. 9 | 86. 7 101.3|101.3 148. 1 153. 1 153.1
20x40xD20x100 |R10x40xD20x100 | 52.7 | 57. 6 73.1]75.9 95.31106.7 93.5(102.9{105. 5 105. 4 115.7(115.7|133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 (100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3|1196. 3(220.0
55 oLy ilaa (21 2 lalinl e 4k Ailad4ns 55 e oy s olailind e 4kl 4las 4a 0 Aly AT ()55 Sia S 4adad axkad od e i ol 528 aily Hhd Sa Saxkad
55° Decimal Point Non-Standard Flat-End Milling Cutter ~ 55° Decimal Point Non-Standard Ball End Milling Cutter T e,V s o) s e LIHRC 2l Ui T e,V s o) s e LIHRC 21 i
e Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball-End Milling Cutter
mE m ‘ Can Cut Steel Below 60 HRC , Can Cut Steel Below 60 HRC .
: o1 Pe————— |0=4mm | D= 4rm
alaiis R DL Hellol ™ “homm It Jt

D1. 1-D3. 9xD4x50 4.3 RO. 6-R1. 9xD4x50 4.7 A R A RS
D4. 1-D5. 9xDéx50 6.9 Su pspmi e cints o 0. 10m R AR
Dé6. 1-D7. 9xD8x60 12.4 "RO.5-R1. 5xD4x75 6.9 0.3 | 2/3/4 4.6 5.3 0.3 4.6 5.3
D8. 1-D9. 9xD10x75 20.4  R0.5-R1.5xD4x100 7.6 0.4 | 2/3/4/5/6 4.6 5.3 0.4 | 2/3/4/5/6 4.6 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x5 7.6 0.5 | 2/3/4/6/8 4.6 5.3 0.5 | 2/3/4/6/8 4.6 5.3
e ; 0 0 0
IU 3 el dbald 4 0. Amm 0. 5-R2 6x7: 10.7 0.6 | 2/3/4/6/8 4.6 5.3 0.6 | 2/3/4/6/8 4.6 5.3
RO. 5-R2. 5xD6x75
D1. 0-D3. 0xD4x75 6.0 “R2 12 0.7 |3/4/6/8/10 4.6 | 5.3 0.7 |3/4/6/8/10 4.6 | 5.3
RO. 5-R2. 5xD6x100 6
D1. 0-D3. 0xD4x100 6.4 YU s adiaalali s Ro. 25mm 0.8 | 3/4/6/8/10 4.6 5.3 0.8 | 3/4/6/8/10 4.6 5.3
D1. 0-D4. 0xD6x50 6.4 "Rax120 20.7 0.9 |3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1.0-D5. 0xD6x75 9.6 R4x200 43. 6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
93-0—0_5; 0xDuéx100 1.9 R5x120 32.4 1.5 | 6/8/10/12/15/20| 3.9 4.6 1.5 | 6/8/10/12/15/20| 4.6 5.3
D?JJDG2 50 2 2. omn 77 R5x200 40. 3 2.0 | 8/10/12/15/20 3.9 4.6 2.0 | 8/10/12/15/20 4.6 5.3
AT 40 R6x120 42 6 2.5 10/12/15/20 3.9 | 4.6 2.5 10/12/15/20 4.6 | 53
D6x20xD6X50 6i o R6x200 86.9 ;ﬁx n’_'ﬁyg Oy Qsi i b Db 5 Sae JE G805 P Tk b 53 R S S
D8x30xD8x60 12.4 R8x200 154.7 M.\cr)ég[sla}rfgg?BaH-End Milling Cutter Can Cut Small Diameter Long Neck Round Nose Flat End Milling Cutter
D8x40xD8x120 20.7 R10x200 222.9 Steel Below 60 HRC T =1 -
D8x200 43 6 :,;ﬁ D15 om e a3 B R N ;M L=50mm [t4mm
D10x30xD10x75 20.4 Ml‘chg:)ngr#e'—t'e$l(::\at-End Milling Cutter Can Cut R‘I- = ‘D=4mm =~ - o
D10x35xD10x75 20.4 SteelBelow 60 HRC n TlolLs oy + y ]
D10x50xD10x100 26.1 D1 T i) D=4mm ! ' D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 LH*U L=50mm ot D1RO. 2 4/6/8/10 10.3
D10x200 64.3 D1.5R0. 1| 6/8/10/12 10.3
D12x35xD12x75 27. 4 D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 D2RO. 1 8/10/12/16 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2R0. 2 8/10/12/16 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4R0. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4R0. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6

Gt 433 3 QL:}JLA ¢Jis 9 Jua Jalid ‘)JYL.) \_\.4.13
u.:; BL LS\:aJ.J )‘XJ GlA\J O Malza \Lm:aﬁ_

- i yis Jaeal Lakal ) g a3 68 ja (iSila &y gua o eva@mzgtool.cn

http:// www.mzg.tw


http://www.mzg.tw

Olagas 3 LS (G 50

Cemented Carbide Cutter

JJ:\A L)i'Jt‘ ?JH‘}“ / Jgjﬁjs‘ 4_.d 54 iulis oY 58 T-Groove Side Milling

8 (51 0 o5 Ams Dlaa 20

00 535 531,V 8 Al 5 e 5 wHRC Ui 282
Single-Edge Acrylic / Aluminium Milling Cutter ~ ©° 223410 358 21153 o2 3V 5 HRC b OQfDL{ - %‘ID Tungsten Ste;?g:ove Sid:Mﬁiﬂg
3-Edged Taper Milling Cutter For Tungsten Lt—" R Cu“erca” Cut Steel Below 55 HRC
Steel Can Cut Steel Below 55 HRC 7!‘—*“ L \ H, b2
' D1 %‘:.
D1£m e D sl o sl Coad =
L1 L D1 a° L1 D2 D L 3F uUsSD D1 a° L1 D2 D L 3F uUSsD _1\;4\ "—Meﬁ
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L )
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
ey w W D1x1.5°%4LxD1. 21xD4x50Lx3F | 6.9  DAx1.5°x15LxD4. 79xD6x50Lx3F |11.9 D4x1HxD1.5xD6x50 | 6.4
General &1 D1x2°x4LxD1. 28xD4x50Lx3F 6.9 DAx2°x15LxD5. 04xD6x50Lx3F  |11.9 Dax1.5HxD1. 5xD6x50 | 6. 4
D1 L1 DL SEIEE D 1x3°x4LxD1. 42xD4x50Lx3F 6.9 D4x3°x15LxD5. 57xD6x50Lx3F  |11.9 D4x2HxD1.5xD6x50 | 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6. 9 D4x8°x14. 93LxD8xD8x60Lx3F  [18. 1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1.5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F |28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6. 9  D4x15°x14. 93LxD12xD12x75Lx3F|39. 6 Déx1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2. 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9 D6x1.5°x20LxD7. 05xD8x60Lx3F |18. 1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2. 5¢15xD3. 175x50 20 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 169
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3.5xD8x60 | 16. 9
D3 175x12xD3. 175x50 | 2. 0 | 4.0 | 43 D2x1.5°x6LxD2. 31xDAx50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F |25.9 D8x2HxD3. 5xD8x60 | 16.9
D3. 175x15X03. 175660 | 2.0 | 4.0 | 4.3 poXCpl O PSR |00 DoriooeiTeadioebIoaaoge 139 6 Diost Bdimions | 21 o
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 pjy50,60 xD3. 05xD4x50Lx3F 6.9 DBx0.5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1 D3x10°x10LxD6. 53xD8x60Lx3F |18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 54 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 | 5.4 | 6.1 b onSE VAR e e T D S s 5 S e 2
D4x22xD4x50 4.7 5.4 6.1 ;a o )As::y};\k\f U;\Jr\f\'\-'iccﬂ:t::ﬁ Turi;st)enJSte’el S’tr:g::.:rcov;:.e ‘ )“—J)“H\I;C ;gofﬁﬁ 7 A [ aa(
ungsten Steel Inner illin: utter oA x5 il R RN A ) 4
Bji%gigiigg 2 g ? z ? 3 CanCutStesl Below S5 HIRe Chamfer Cutter Can Cut Steel Tungsten Steel Straight Groove
’ ’ ’ Be@gﬂSS 'E)BC (60°/90°/120°) Chamfer Cutter Can Cut Steel
D4X32XD4X50 6 4 8 6 9 3 RW - D - Below 58 HRC(60°/'90°/120°)
D4x42xD4x60 10.3 [12.1 [12.9 D@%—-—‘—""@ o1} 1o A C
D4x52xD4x70 13.3 |17.1 |17.9 —t 2 R :
Déx12xDéx50 9.3 [10.0 [11.4 w - - x D ———— D
Déx15xD6x50 9.3 [10.0 [ 11.4 L e 2 ! L |
D6x17xD6x50 9.3 |10.0 [11.4 DIR.D.L UsD § Dia® D2L1DL
D6x22xDéx50 9.3 (10.0 | 11.4 D4R0. 5xD4x50 6.7  D4x90°xD1.5x6xD4x50 | 6.4
D6x25xD6x50 9.3 110.0 1 11.4 D4R0. 75xD4x50 6.7  D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7  DBx90°xD3x6xD8x50 16.9  D1xD4x50L 46150
D6x32xDéx50 11.1112.9 (14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 (17.7 | 19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 46150
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 46150
D6x62xD6x80 25.0 |132.1 133.6 D8R2. 0xD8x50 20.0 D5x50L 8.6]9.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7 133.3 [ 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6|14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
D10x20xD10x50 35.3135.7 149.3 D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
D10x32xD10x50 35.3 35.7 [49.3 Sl () gy pa aada e i el adais culh ate 438 50 Jlie
D12x20xD12x50 46.9 150.0 | 53.6 5 g e e o sSons 2Y 53 Gt 1S g yan 5 ol i ) salital
D12x32xD12x50 46.9 [ 50.0 | 53.6 00 525 )2 0lsi a1y W AHRC 22 i oA 25 2V HRC
5 G585 4l Ol Reamer ERCER g & 52V 5 )3 Stosl Inverted Gone Dia. Frams " Use0f Fixed Point Ang chamfer Oan Cut
;;rf\-)Eé;"e);’;ﬁ;;felnys}feiﬁgej%::ﬁ Tungsten Steel Drills Tungsten Steel Bar Gan Cut Steal Below 55 PG Sieel BelowsrRe
Can Cut Steel Below 55 HRC D1I WID —————————————
IW}D S 90° 3)\,"=;D
D P k
o — NN ¢>ﬁ§§;“:$ — Hyy = e
Ala.)‘ . A ' A\.tg\
D1 L1 DLT — - - D1 L1DL
D3x50xD3x100Lx4T | 7.6 alay) Sesd s SN D4x15xD4x50 4.0 ( oa [ ol [ 353)
D4x50xD4x100Lx4T | 8. 1 USD DL USD__USD_JPHE RGP 1.1 e S00)
D5x50xD5x100Lx6T | 11.1  D1.0-D1.5 1.9 D3x100L 2.4 3.6 DBx30xD8X60 12.1 S AL La b
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.91 6.0 D10x30xD10x75 20.4 DXL
D8x50xD8x100Lx6T | 21.1 D2.1-D2.5 2.6 D5x100L 6.1 1 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3]3.9
D10x50xD10x100Lx6T | 30. 7  D2.6-D3.0 3.3 D6x100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40. 7 D3.1-D3.5 4.0 D8x100L 14.3121.17  D12x50xD12x100 34.7 D2xD4x50L 3.313.9
— D3. 6-D4.0 4.7  D10x100L 2141324 D16x50xD16x100 57 9 D3xD4x50L 3.3| 3.9
piiee RSB N A G D4.1-D4.5 5.4 D12x100L 31.1]46.9 - D3x100L 6.11 6.9
20 R0 S 0lE e DASHRC LG g6 ps 6.9 b s 8 e g2 D4x50L 3.3 3.9
Straight-Edged Tungsten Steel Reamer D5.1-D5.5 7.9 Jq“"'m)*‘.‘;f"”:‘u“‘“'m D4X100L 6 1 6 9
Can Cut Steel Below 55 HRC D5. 6-D6. 0 9 6 SN 33 21y Y 5 15 e G alaHRC 82 (i D5X50L 6 0 6 4
TEE=—===sD 061065 1.1 Doite Hend Tynasten steel Fredoont 2001 12.1]12.9
D'”‘—" L1 L ‘ D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC D6x50L 6.0 6.4
o e S
O . . . X . .
DI L1DLT USD D8. 1-D8.5 22.4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9119.3
D4x50xD4x100Lx4T 6.4 D9. 1-D9. 5 28.3 D10x100L 27.1|28.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D12x75L 25.4(27.1
D6x50xD6x100LXx6T 9.6 D10.1-D10.5 35.7 D3x100L-DB 7.4 1 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T | 14.6  D10.6-D11.0 | 37.4 D4x100L-DB 7.4 8.1 D14x100L 51.4]52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 | 46.0 D5x100L-DB 14.3115.0  D16x100L 64.0|65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6196.9

[GEFWER LW TISY Wy \L\Lﬁﬂxx cJaa 9 Jea Jali )JYL} Chand,
G 02 1.5\,3).41 J\JJ GJA\J Il D PPN Lma'ﬂ'_

i jas Jawal Ladal 1) g 43 8 58 3510 & ea 2 eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

A 2 Aa e e O 55 S|

Extrusion Screw Tap

A )0 Ay e @ () 55|
Extrusion Screw Tap

g saa 50 x Sy x Jsha

(I Qo s52a ()232)
M3. 0x0.

&}.A.AJAX\_;\T_\:-IXJJL

(1 o s5xa () 233)

RH6 | B 70 ] 7.9 M4x1.0 RH8 | B 26.1 | 28.9
RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 4.7 | 5.4 M14x1.5 RH8 | B 26.1 | 28.9
RH5 | P 4.7 | 5.4 M14x2.0 RH8 | B 26.1 | 28.9
RH5 | B 4.7 |54 "MI6x1.0 RH8 | B 34.0 | 37.1
A RH6 | P 4.7 | 5.4 MI6x1.25 RH8 | B 34.0 | 37.1
B e '- RH6 | B 4.7 | 5.4 M6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 4.7 | 5.4  MI6x2.0 RH8 | B 34.0 | 37.1
B i e RH7 | B 4.7 | 54
(o sma 353y RH8 | B 4.7 | 5.4 UNFO-80 RH4 | P 5.7 | 6.1
- 0x0. 5-80L RH9 | B 4.7 | 5.4 RH4 | B 5.7 | 6.1
MO. 5x0. 125 RH2 | B 11.0 [ 119 M3.0x0. 5-100L 0o o st o Ao
MO. 6x0. 15 RH2 | B 9.3 1100 M3.0x0.5-150L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
MO. 7x0. 175 RH3 | B 9.3 100 M3.0x0. BLux sScas ool 17.6 [ 18.3  UNC2-56 RH4 | P 57 ] 6.1
MO. 8x0. 2 RH4 B 6.7 7.4 M3. 5x0. 6-100L RH6 B 67 7.4 RH4 B 5 7 6.1
I R Rl 8 Sk W DA welE | g
: . . : M4. 0x0. 35 \ . . .
Eng E 2 g 2- 8 M4 0x0. 5 RHG6 | B 71 179  UNG2-56-100L 10.0 | 10.7
N 2510y maox0.7 RH6 | B 7.1 | 7.9 UNF2-64 RH5 | B 6.7 | 7.9
Wi 028 — o RH5 | P 4.7 | 5.4 TUNC3-48 RH5 | B 57 |61
- 1x0. il I Y RH5 | B 4.7 | 5.4  UNF3-56 RH5 | B 7.4 | 7.9
T 7075 Ru: 8 ) RH6 | P 4.7 | 5.4  TUNCA-40 RH5 | P 4.7 | 5.4
- 2x0. iyl I 12 &0 RH6 | B 4.7 |54 RH5 | B 4.7 | 5.4
il I e RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
RHS | B | 53 | 6.0 R | b | 47 |54 R | B | 47|54
m 328- g Enj E ; ; Z- g RHS | B 4.7 | 5.4  UNC4-40-100L 10.0 | 10.7
- 650 iyl I 2500 Ma0x0.7-80L RHO | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
il I 25 00 M0x0.7-100 8.9 | 9.7 RH5 | B 7.4 | 7.9
RS D 25 g0 M40x0.7-150L 9.7 [10.4 UNC5-40 RH5 | P 53 | 6.0
W1 4x0. 3-80L 050 A 0x0 TS s 17.6 18.3 RH5 | B 53|60
W-0.3 Sy 2100 W4 5x05 RH6 | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
- 5x0. e P10 LS Wasx0. 75 RH7 | B 74 [ 8.3  UNF5-44 RH6 | B 7.4 | 7.9
N 60,2 Ria TP e M5.0x0.35 RH7 | B 57 | 6.9 TUNC6-32 RH5 | P 47 | 5.4
RHA B 71 79 M5. 0x0. 5 RH6 B 7.4 8.3 RH5 B 4.7 5.4
weoss | 6| F | iilo MOSE me s e | e |47 2
EH;‘ E g g 2- 8 RH6 | B 5.3 | 6.1 RH7 | B 4.7 | 5.4
A N S RH7 | P 53 | 6.1  UNC6-32-100L 10.0 | 10.7
W1 640, 35-80L 531 &S RH7 | B 53 | 6.1  UNF6-40 RH6 | P 6.7 | 7.4
M1: 7x0: 5 RHA B 7: 1 7.'9 M5. 0x0. 8-80L RH8 B 5.3 6.1 RH6 B 6.7 7.4
W 7x0 35 RH4 P 53 | 60 M5. 0x0. 8-100L 9.3 |10.3 UNC8-32 RH6 P 5.0 | 5.7
R 23190 Ms.0x0. 8-150L 10.0 | 11.0 RH6 | B 50 |57
A 2100 W5l 0x0. BLs s oo 18.3 [19.3 RH7 | P 50 |57
RH5 | B 53 160 MD0:05 E:g E ;21 g; UNC8-32-100L e 150 Oo 150 77
m gig- 55 E:i E Z, ; Z- ‘; mg: gi?: 35 RH7 | B 7.4 |83  UNF8-36 RH7 | B 7.4 | 8.1
- 8x0. il I A RH6 | P 53 | 6.1  UNS8-40 RHG6 | B 7.4 | 8.1
S — —— RH6 | B 53 | 6.1 TUNC10-24 RH6 | P 53 ] 6.0
- 0x0. iyl I 7 ANpT. 3 RH7 | P 53 | 61 RH7 | B 53 |60
W2, 040, 4 il R RH7 | B 53 | 6.1  UNC10-24-100L 10.0 | 11.0
- OXD. R4 | B 47 | 24 M6 ox1.0-80L RH8 | B 5.3 | 6.1 UNC10-24L s 5o l232RH7 | B 7.1 1 8.1
RH5 P 4: 7 5: 4 M6. Ox1. 0-100L 9.3 110.3 UNF10-32 RH7 P 6.7 | 7.4
_ 10.0 | 11.0 RH7 | B 6.7 | 7.4
RH5 B 4.7 | 5.4 Mé6. 0x1. 0—-150L
RH6 | P 47 | 5.4 M. OxT. OLissSoaa oo 183 117.3 UNF10-32-100L 10-0-11.0
RHG6 | B | 4.7 | 5.4 -H7-Ox0-5 B L
RH7 | P 4.7 | 5.4 M7.0x0.75 RH7 | B 9.3 |104 UNE12724 RH7 | B 67 | 7.6
RH7 | B 4.7 | 5.4 M7.0x1.0 ' ' UNF12-28 ' '
M le 67|30 deded lmhle sl eS8 mr s lor re
M2. 0x0. 4-80L 8.9 | 9.7  M8.0x0.75 ri7 | B o5 |10 4 UNC1/4-20 RH7 | B 54 |67
M2. 0x0. 4-100L 9.7 | 10.4  M8.0x1.0 e | g 33 l10a oo
M2. 0x0. 4L s sSas SlasRH6 | B 7.1 1 7.9 M8.0x1.25 ri7 | B o5 |10 4 UNCI/4-20-f00L | o 71 |8
M2. 2x0. 45 RA4 7P 53160 RHo | B 9.3 10,4 UNGI/420Liasfaaclgy | p 6.7 | 7.6
RH4 | B 53 | 6.0 M8 0x1.25-100L G0l a e UNF1/4-28 rr | B R o
M2. 3x0. 4 RH5 P 4.7 5.4 M8. 0x1. 25-150L v : ; ’
RH5 | B 4.7 | 5.4 M8.O0x1.25LussSxe Py | g 1? Z %2; i UNF1/4-28L = sSoe omg:? S Z: ; ?; l,
M2_3x0_4l (s Saa SlasRHO B 7.1 7.9 M9 0x0.5 RA7 B 10.4 [12.1 UNEF1/4-32 RH7 B 6.7 7.6
M2. 5x0. 25 RH6 | B L9 N9 0x0. 75 RH7 | B 10.4 |12.1 UNS1/4-36 RH7 | B 9.3 [10.4
M2. 5x0. 35 RH6 | B 7179 N9 0x1.0 RH7 | B 10.4 |12.1  UNC5/16-18 RH7 | B 1.1 12,6
M2. 5x0. 45 RH4 | P 4.7 154 M9.0x1.25 RH7 | B 10.4 |12.1  UNC5/16=18Lys s%e (s 13.6 | 15.0
Emg E 3. ; g 3 WTOX0. 5 RH7 | B 104 [12 1 UNC5/6-18-100L  RH7 10.0 | 11.1
Rs | B IR M10x0. 75 RH7 | B 10.4 |12.1 UNF5/16-24 RH7 11.0 | 13.1
: : M10x1.0 RH7 | B 10.4 |12.1  UNC3/8-16 15.3 | 16.7
RHO6 | P 47 | 5.4 M10x1.25 RH7 | B 10.4 | 12.1  UNC3/8-16-100L  RH7 | B 13.1 | 14.7
EE? E j— ; g j M10x1. 5 RH7 | B 10.4 | 12.1 _UNC3/8-16Lcs sSae ()3BH7 | B 11.9 [ 13.9
AN IS e 20t [ RH9 | B 10.4 |12.1  "UNC3/8-24 RH7 | B 14.6 | 16.4
Rl s 337 21 15.3 | 16.7 _UNC7/16-14 RH7 | B 15.7 117.9
AN x1. _ 20.3 | 21.7  UNF7/16-20 RH7 | B 7.1 [19.7
M2. 5x0. 45-80L : : M10x1. 5L S O3 RH7 | B 12.6 1 14.0  UNC1/2-12 RH7 | B 17.1 119.7
M2.5x0.45-100L | | ‘;Z 170-94 Mi1x1.0 RH7 | B 11.9 [13.9  -UNF1/2=20
W2 5x0 5L v LI Le Tw2aos RH7 | B 1.9 [13.9 RH6 | P 53|60
M2 6x0. 45 SR T 2d w207 RH7 | B 119 113.9  W1/8-40 RH6 | B 53 |60
Rie 1 B T2 w20 RH7 | B 1.9 113.9 RH7 | B 53|60
RHi6 1 P ST A 2.2 RH7 | B 11.9 113.9  W5/32-32 RH7 | B 53 |60
- : M12x1.5 RH7 | B 1.9 [13.9  W3/16-24 RH7 | B 54 |67
RH7 | B 3- ; 150- ‘Z M12x1. 75 RH7 | B 11.9 113.9  W1/4-20 RH7 | B 9.3 |10.4
M2. 6x0. 45-100L : : RHS | B 11.9 1139 W5/16-18 RH7 | B 1.9 [13.9
M12x1. 75-100L 19.7 [21.7  w3/8-16 RH7 | B 14.6 | 16. 4
M12x1. 75-150L 22.9 |25.0  W7/16-14 RH7 | B 17.1 [19.7
M12x1. 75l sSae Of2ioRH7 | B 14.0 | 16,1 W1/2-12

Gl 439 38 Glalla (Jad 5 Jea Jald YL Cand,

O 0 el Y Ak Olelas Caegd,

St s el Lk s 438 a8l & sa 5 @VA@mMmzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

A3 )3 40 i

Tap

24330 4y & 2 5a x S x Jsh s g 3 se x Sy x sk
Apex Tap (AT 1530)
.0x0.5 P2 6.7 1 7.9  UNC1/2-12 P3 13.1 | 15.3
. 0x0.75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
. 0x1.0 P2 6.0 | 7.4
.0x0.5 P2 6.7 7.9 Wi1/8-40 P1 4.7 | 5.4
. 0x0.75 P3 6.7 1 7.9  W5/32-32 P2 4.7 | 5.4
. 0x1.0 P3 6.7 1 7.9 W3/16-24 P2 4.7 | 5.4
. 0x1.25 P3 6.0 | 7.4 W7/32-24 P2 4.7 |57
P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
& san 5a x Sy x J sk , : ] . 0x1. 25-100L 12.6 W5/16-18 P2 6.0 | 7.4
(o s5ena 133 . 0x1. 25-150L 18.3 W3/8-16 P2 7.9 1 9.6
M8. 0x1. 25 canice P4 43.3  W7/16-14 P3 1.9 [13.9
M1. 0x0. 25 P1 53160 “y9 0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
M1. 2x0. 25 P1 53 | 6.0
M1 220, 25 P2 2o M9.0x1.0 P3 8.3 | 10
e 4X0- e o Tt M9.0x1.25 P3 7.9 | 9.6 PS1/8-28 caice P4 56. 4
M1-4X0- = B 24 L WMox0.5 P2 8.3 | 10 PS1/4-19 carae P4 91.7
2628tk P2 25 e Mox0.75 P3 8.3 | 10 PT1/8-28 canice P4 62.9
S 05 : M10x1. 0 P3 8.3 | 10 PT1/4-19 carice P4 95.7
- ax. : M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4
M10x1. 5 P3 7.9 1 9.6
M1.5x0. 3 P2 5.7 6.7 P4 7.9 9 6 NPS1/8-27 cavie P4 56 4
M1. 6x0. 2 P2 6.7 | 74 m10x1. 5-100L 14.6 NPS1/4-18 cavise P4 91.7
M1. 6x0. 35 P2 53 160 Miox1.5-150L 19.7 NPT1/8-27 cavise P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 511 NPT1/4-18 cunae P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
MT. 7x0. 35 P2 53 160 “wi2x05 ) 1o T131
M1. 7x0. 35 corce P2 21.0 : : i
e 5 ot M2x0.75 P3 11.0 | 13.1
M1-8X0- 35 P2 27 e M0 P4 11.0 | 13.1
X0 - : M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
o o) 2ol Ey maxas P3 11.0 | 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
Pa 47 |2, Wm2x1.75-100L 18.9
A P : M12x1. 75-150L 22.4
Y oxo' 4-100L 93 M12x1. 75 camice P4 62.9
¥ - M14xT1.0 P3 7.1]19.7
MZ. OXO. 4 Carbide P3 19.7
M14x1. 25 P3 17.1 119.7
M2. 2x0. 25 P2 6.7 | 7.4
M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
M2 5x0 4 P2 e Max2.0 P2 15.7 1 18.3
N2 5X0' 35 P2 o7 171 M16x1.0 P3 19.7 | 22.4
M. 5"0- 45 b7 275, Mext.25 P3 19.7 | 22.4
X P3 27 |2, Mmoext5 P3 19.7 | 22.4
o 22y mex2.0 P4 18.3 | 21
M2. 5x0. 45-80L 8.3 _
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 174 “UNC2=56 5 573 3
M2. 6x0. 45 P2 4.7 | 5.4 pa 5 3 6
M2. 6x0. 45-100L 9.3 LA :
M3. 0x0. 35 P2 47 |54 ﬂngg_gﬁ (il P2 Z? 74
M3. 0x0. 5 P2 4.0 | 47 “NC3-48 P 573 3
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4-40 P2 47 [ 5.4
+0.1 4.7 | 5.4 P3 47 |54
M3. 0x0. 5-80L 8.3 1 47 | 54
M3. 0x0. 5-100L 9.3 UNCA-40-100L 9 6 ;
M3. 0x0. 5-150L 17.1 UNF4-48 P2 67 |74
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3. 5x0. 6-100L 9.3 UNGB-40—100L 9 6 :
M4. 0x0. 35 P2 6.7 74 UNCe=32 7 757
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 | 54
M4. 0x0. 7 P2 4.0 | 4.7 1 47 | 54
Ei j- 8 j- ; UNC6-32-100L 9.6
0.1 4o | s, _UNF6-40 P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 47 |54
M4. 0x0. 7-100L 9.3 P4 47 | 54
M4. 0x0. 7-150L 17.1 UNC8=32-100L 9 6 :
M4. 0x0. 7 carsice P3 197 UNF8-36 P2 67 | 74
- 0.2 = S0 el Tuncto2a P2 4.7 | 5.7
X P3 40 | 2o UNc10-24-100L 9.6
o 20 |2 UNF10-32 P2 4.7 | 5.7
g 4o | 25 _UNF10-32-100L 9.6
M5. 00, 8-80L 4 8 6 : UNC12-24 P2 47 [ 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 | 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 carsice P3 21.0 pa 47 157
o 2 = 2027 unet/4-20-1000 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
aL2lle P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
P4 40 | 2o _UNEF1/4-36 P2 6.7 | 7.6
0.1 47 | 25 UNc5/16-18 P3 6.0 | 7.4
M6, Oxcl. 0-80L : 8% : UNC5/6-18-100L 13.1
M6, 0xl. 0-100L 94 UNF5/16-24 P2 7.4 186
Ha. 01 01500 7.9 UNC3/8-16 P3 7.9 [9.6
M. 0x1. 0 can P3 224 IS ]
2 Wl U emiio : UNF3/8-24 P2 9.3 [10.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7

Crasgd a3y 58 5 Glalla (Jad 5 Jea Jald H3WL Giaid,
O 0 el Y Al Olalas e, -
S iy eyl LB g 5 £ a3 &y 5m 5 @Va@@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

s-=Spiral grooved

Spiral Grooved Tap

) M12x0. 5
a%ax 43 ua spiral grooved a5 g sise xS xJsh g
Spiral Grooved Tap (I 2 552 o)) 233)
— M4.0x0.7-100L | +0.1] 4.7 | 5.4 P2 [11.0]13.1 UNF1/4-28 6.717.6
m% M4 0x0.7-150L | P2 | 4 |47 MI2x1.0LossSas 0l P2 | 11.0(13 1 P4l 67|76
X P—— M4. 0x0. 7-AL P3 4 4.7 M12x1.25 P2 |11.0]13.1 UNF1/4-28-HT A g 1B 7.4
e M4. 0x0. 7-HT jiws | P4 4 4.7 ) P4 111.013.1 UNF1/4-28L s Sae Ojia P2|7.4|8.3
~ M4. 0x0. 7L sSona (i 9.3 M12x1. 25L s Saa P2 (12,6 14,7 UNEF1,/4-32 P2|6.7|7.6
eSS ———— #5005 v W2x1.5 P2 01131 ynst/a-36 P2167]7.6
: P2 | 4 | 4 P4 [11.0[13.1 \no5/1618 P2|6.0] 7.4
Tin 1B | 4.7 | 6.1 M12x1. 5L S o)k P2 (12.6|14.7 P3| 6.0 7.4
& saisa xSayx sk oa | g ] . P2 147157 w2v1 75 P2 [11.0[13.1 P4| 60|74
s . —0x0: U™p2 4.7 5.4 : P4 [11.0[13.1 13.1
(1 e sSan ) 53) ) UNGC5/16~18-100L .
P3 | 4.7 | 5.4 P2 [12.6[14.7 g P2| 6.7
M1. 0x0. 25 P1|53]60 pala7|54 +0 1111 0113 1 UNCS/16-18-AL
. . . . . . 1B(7.9]8.3
P2 |53 |6.0 P2 [5.7]6.9 waxt. 75100l | P2 |10.4|12.6 UNCS/T6-1BHT Sy oy ) 771 g ¢
P3|5.3]6.0 +0.1| 4.7 | 5.4 : P3 [10.4]12.6 UNCS/16-18L s sSae (Xins | 57 4 | g
P4 | 5.3 6.0 M5.0x0.8-100L P2 | 4 |47 M2xt.757150L P4 |10.4|12.6 UNF5/16-24 Pal74l86
W1, 2x0. 25 Pl 53|60 M5.0x0.8-150L | p3 | 4 |47 MI2x1.75-AL 18.9 Al I S
P2 | 5.3 ] 6.0 M5.0x0.8-AL P4 | 4 |47 WI2ATSHTAusn| 195y UNF5/16-24-HT sivs| p2 | 9 3 |10 4
P3| 53|60 M5 0x0.8-HT sius 9.6 M12x1. 75L s sSxe Olispy 10. 4 NS ' )
- % UNF5/16-24L 5 PJ3P2 [ 7.9 [ 9.6
P4 53160 M5 0x0.8LussSae Ol [17.9 M14x1.0 1B | 11.912.6 uNG3/8-16 P317.9]9 6
1. 4x0. 2 PT 67174 M6.0x0.5 P2 | 4 | 4 M4x1.25 P2 |12.1]14.7 P4l 7996
M1.4x0. 3 P1|5.3]6.0 1B | 4.7 6.1 MAXTS P2 [17.1]19.7 14.7|
P2|5.3|6.0 P2 | 4.7 |57 M4x2.0 P2 |17.1(19.7 . P2 183
P3| 5.3|6.0 "M 0x0.5Lusssms opsoP2 | 4.7 | 5.4 M16x1.0 P2 [17.1]19.7 ﬂ“ggﬁg_lg\ﬁ(’" 1819 610.4
P4 153160 e 0x0 75 P3| 4.7 |57 M6x1.25 P2 |15.7118.3 \eae 46 HT & P2 1961110
1. 5x0.3 Pl 67|74 P4 | 4.7 |57 WI6xT5 P2 [19.7[22.9 P2 | 9.3 (107
M1, 6x0. 2 P1 | 67|74 P2 | 5.7 |69 M6x2.0 P2 [19.7|22.9 ﬂmggjg‘;j}w‘“ O 103 107
M1. 6x0. 35 P1 53|60 2| 4.7|5.7 P2 [19.7(22.9 = ' )
. 0x0. 7 1R
P2(53 |60 Moo 05L“"$“ T7P3 | 4757 UNFO-80 P2 |18.3|21.4 05 110l 156
p3le3le0 - 0x1. pa |4 7|57 _UNCI=64 UNF3/8=24-HT s | 10 | o5 |10
P4 | 5360 P2 | 5.7 | 6.9 _UNF1-72 P1 | 58] 6 UNF3/8=24LG55=OSp) (11,9113 0
M1.6x0. 35-HT siwsf 18 6.9 +0.1| 4.7 | 5.7 UNCZ=56 PI [53] 6  UNS3/8-32 P2 112 6114 7
M1.7x0. 2 P1|6.7|74 - P2 4 5 P11 6.717.4 TUNC7/16-14 - -
M6. 0x1. 0-100L P2 [13.1]15.3
M1. 7x0. 35 P1 153160 ne 0x1.0-150L P3| 4 5 P1 1531 6 UNF7/16-20 P2 [14.6|16.4
P2 |5.3]6.0 M6. 0x1. 0-AL P4 4 5 P2 | 5.3 6 UNC1/2-12 i )
P3[5.3|6.0 yo or oont s 9.6 UNG2-56-100L P31 5.3| 6 UNF1/2-20
M6. 0x1. O-HT sivi 52 v P1 47|54
P4|5.3]6.0 e 17.9 UNC2-56-HT siws: | P4 | 5.3 | 6 P2la7!5a4
M1 8x0. 2 PI| 67 74 Mo.Oxt.OLonSaadiin | 4 | 4 UNF2-64 9.6 W1/8-40 P2|4.7]5.4
M1.8x0. 35 P1 |57 |67 M.0x0.5 1B | 4.7 |61 UNG3-48 1B 6169 ws/30-32 P2l 47|57
M2. 0x0. 25 P1]6.7|74 P2 | 4.7 157 _UNF3-56 PI | 67174 w3/16-24 P2 la7l57
M2. 0x0. 4 +0.1 5.3 | 6.0 M7.0x0.75 P2 | 6.7]7.9 UNC4-40 P1 53] 6 wz7/32-24 P160l74
P1|4.7]|5.4 P4 | 6.7|7.9 Pl 67174 wiya0 P70 es
P2 | 4.7 |5 4 M7.0x0. 75LcssSae IR0 | 6.7 | 7.9 P1 147154 w5/16-18 P2 111.9113.9
P3| 4.7 |5 4 M7.0x1.0 P4 | 6.7 7.9 P2 | 4.7 154 w3/8-16 P2 13' 1 15' 3
P4 | 4.7 | 5.4 P2 | 7.9 9.3 UNC4-40-100L P3| 4.7 |54 wr/16-14 : ;
M2. 0x0. 4-100L 9.3 M7. 0x1. OL s sSaa (ylRiaP2 6 7.4 UNGC4-40-AL ) P4 | 47|54 W1/2-12
o e b1l 47147 M8 o0x05 PA | 6 | 7.4  UNGA-40-HT siv s 9.6 7.9
¢ 1B |5.4]67 P2 | 7.418.6  UNF4-48 P2 | 4.7 R N ko
M2. 0x0. 4-HT ?M}‘ 127 a7 e ox0 75 P2 167179 UNC5-40 1B 15467 PS1/8-28Lal: 5. 3 . 7.9
2. 2x0.25 PI| 47|54 W8 OxX0.75LumsSae R2 | 6.7 | 7.9 "UNF5-44 P24 T[54 PSI/A-1BGIS s s | 18- 4
m; gxg 23 Pl 4.7 154 M8 0x1.0 P4 | 6.7 1 7.9 UNC6~-32 9.6 PS1/4-19 % 5 {)‘-\-‘t“‘ 17' 1
1P xU. A P1]|57]67 P2 7.9 9.3 P2 | 6.7 7.4 pPS3/8-18 S yal 2 ,lhili 19' 7
T MG T ERCE S AR & e
Mo oo *0.115.31 6.0 yg.0x1.25 5195 | &4 uNce-S2-100L 4| 47|54 P12 bl 419
-5x0. 45 Pl | 47|54 P2 | 7.9 9.3 UNG6-32-AL P4 |47 5.4 sl |41 9
P2|4.7|5.4 e TG uNceB2HT e |06 S :
P3| 4.7 |54 PR e | Tg uNceBalosen g PR 2 T PISZETARER T
PA| 47154 W8 0x1.25-100L | .y | o |, UNF6-40 Py | 27 | gy ESITITLb it 7.9
9.3 8. 0x1. 25-150L % UNC8-32 ' -, Ps1m1a=2 )
M2. 5x0. 45-100L N 12.6 P2 | 67|74 10.4
M2 5x0. 45-AL Pl & 74T M8 0x1. 25-AL 18.3 P2 [ 4754 15.7
- OXT. R 1B | 5.4 16,7 M8.0x1.25-HT siv s P2 ) 6 P3 | 47|54 PT1/16-2811% . 19.7
M2.5x0. A5°HT fesd P11 57167 ya 041 251 msne i | 7 4 | 79  UNGB=32-100L pa | 47|54 PT1/8-28Li5 27. 6
M2.5x0. 450 San JISRT [ 6.7 [ 74 o' 07 o' 0y | 74 |6, UNCB=32-AL 06| PTI/419Wt s 5t |46.0
2. 6x0. 35 a2 w0075 P2 [ 7.9 9.6 UNCB-32-HT jius | py | 47 PTS/8=t9 ettt
- @4 p3 |47 |2, M9.0x1.0 P2 | 7.9 9.6 UNCB=32LomsSra Ol 1B | 5.4 | 6.7  PTY/2-14Lak 5 3 il 7.9
P4 4' 7 5' 4 M9. Ox1. OLw sSae OIR2P2 | 7.9 | 9.6 UNF8-36 P2 | 5.7 6.7 PT3/4-14% 5 3 it 10. 4
03| M9. Ox1. 25 P2 | 10 |11.4 _UNC10-24 P2 | 6.7 7.4 1 o ] 15.7
: M10x0. 5 P2 7.9]96 P2 [ 47 |57 PTIZ1ILG: 19.7
= X - - . . )
M2. 6x0. 45-100L E 2; g-z M10x0. 75 P2 8.3 10 P3 | 4.7 |57 27.6
M2. 6x0. 450 s5xs ) A P2 | 8 3] 10  UNG10-24-100L P4 | 4.7 | 5.7 NPT1/8-27 SS3%ars jlxisnl |46, 0
M3. 0x0. 35 P3 4- 7 5- 4 M10x0. 75L0+ Sae JusP4 | 8.3 | 10 UNC10-24-AL 9.6 NPT1/4-18 S sl 2 Jlaiind
: - M10x1.0 P2 10 [11.4 UNGC10-24-HT )3“‘}& P2 4.7 NPT3/8-18 5 0o flasti)
P4 147154 P2 | 8.3 | 10 UNGI0-24LomsSon sl B | 5.4 | 6.7 NN
3 . i . . = 2 =l
P2 157167 -ay P4 | 8.3 10 UNF10-32 . © P2 | 5.7 6.9 NPT1/2 14@\5%)&! S
M3. 0x0. 35L s sSae )\13%-11 4'47 j-;‘ mgxl' g'gw S b | 10 [ 11,4 P2 | 47|57 NPT1/4-14 S0l o it
M3. 0x0. 5 po| a |47 Xt P2 | 8.3| 10 P3 | 4.7 | 5.7 NPT1-11.1-2
PI| 4 |47 WOKN. 25Liessan oy | o |17, UNEIOS32-100L | P4 A T ST
P4 4 4.7 M0x1.5 +01]83 1'0 UNF10-32-HT iw s 1B ’ 74
9.3 P2 | 79|96 UNF10-32LossSae i, | 7 4 | g 3
17.1 ' ) UNCT2=24 ] \
- P3| 7.9]9.6 P2 | 4.7 5.7
mg 828' g—lggt P2 4 140 Pa | 7.9 | 9.6 UNF12-28 P2 6776
M3, 0x0. 5-AL 1B 4.7 6.1 MOx1.5-100L 146 UNEF12-32 P2 167176
",,' n n- c_uT - P2 4.7 5.4 M10X1. 5—150L 19.7 UNS12—36 P2 6.7 7.6
ol A 9.3 M10x1. 5-AL P2 7 o TUNC174=20 P2 | 47157
M3. UxU. OL O+ oae O3 Q ; : :
: : P2 | 4.7 |54 MIOx1.5-HT s 1B /9.3 10 P3 | 4.7 | 5.7
M3. 5x0. 6-100L P2 | 4.7 5.4 Wox1. BLossSes oo P2 | 9.6 | 11 UNC1/4-20 P4 | 47|57
M4. 0x0. 35 P3| 47154 "W1x0 5 P2 | 11 1131 UNC1/4-20-100L 9.6
4. 0x0.5 PA AT 154 Wiix0 75 P2 | 11 |13.1 UNC1/4-20-AL P2 | 4.7
P21 57167 mix1.0 p2 | 11 |13.1 UNC1/4-20-HT Sus| 1B | 5.4 | 6.7
e M11x1.5 P2 [10.4]12.6 UNG1/4-20L_ssSae JIAR2 | 5.7 | 6.9

Gt ady 5 5 Gllla ¢Jad 5 Jea Jald ,3VWL s,
- O oo G al ¥ Aty @ lalas g,
i iy Jaagl ikl s 4358 a i s 5 @Va@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

) ol [ Gy ad

Hand Tap/Circular Die

HT 223 43 o paflie pa AR-D Adjustable Circular Die xJdsh  External
HT Straight Wire Tap AR-D Adjustable Circular Die Diameter
UNFO-80 P1 4.3 UNFO-80 .9
e UNC1-64 P1 2.3 UNC1-64 20 | 10.4
UNF1-72 P1 5.0 UNF1-72 20 | 11.9
UNC2-56 P1 4.3 UNC2-56 20 | 10.4
UNF2-64 P1 5.0 UNC3-48 20 | 10.4
UNC3-48 P1 4.3 UNF3-56 20 | 11.9
UNF3-56 P1 5.0 UNC4-40 20 | 10.4
UNC4-40 P2 4.0 : UNF4-48 20 | 11.9
Eomse xS xdsh g : P3 40 [EETTENTEEY : UNC5-40 20 | 10.4
(1 0= s8aa (4)233) UNF4-48 P2 4.7 (1 L 552 (5)232) Diameter - UNC6-32 20 10. 4
M1. 0x0. 25 P1 TR s 9 1. ox0.25 20 | 331 UNRGT40 200119
w2 UNF5-44 P2 4.7 UNC8-32 20 | 10.4
2x0.25 P1 2.3 - M1. 2x0. 25 20 | 13.1 -
v UNC6-32 P2 4.0 UNF8-36 20 | 11.9
72055 R P3| 40 pEe s 0 | i3 uncio-2e 20 | 10.4
. XU, . . IX
UNF6-40 P2 4.7 : : UNF10-32 20 | 11.9
m; gig- gg E] j—g UNC8-32 P2 4.0 m %8 gg %8 ]g} UNC12-24 20 | 10.4
- 0x0. : P3 4.0 : : UNF12-28 20 | 11.9
M2. 0x0. 4 P2 4.0 _ M1. 8x0. 35 20 | 131 <
G0 mmmo B L4 WSGE A b Moum x|
P4 40 yNF10-32 P2 4.7  M2.0x0.4 2001 104 Ns1/4-32 20 | 11.9
M2. 2x0. 25 P 4.7 memagess B2 A0 M20x0. 4l Smaplsis 20 | 11,9 PEi 5205, % | 119
mg gig- ‘z‘g E% j—g UNF12-28 P2 4.7 mg %xg 4212 58 ]g)z UNC5/16-18 25 | 11.9
- S, : UNC1/4-20 P2 4.0 x : .
M2. 3x0. 4 P2 40 uNF1/4-28 P2 4.7 -M2.3x0.4 20 | 10.4 3353?&9124 %g H;
M2. 5x0. 35 P1 47 UNF1/4-32 P2 47 M2.5x0.35 20| 1.9 UNF3/8-24 25 | 131
M2. 5x0. 45 R2 40" "UNC5/16-18 P3 53 M2.5x0.45 20| 104 gNG7/16-14 25 | 11.9
Ei j—g UNF5/16-24 P3 6.1 M2.5x0.45 w&uw‘mgg ”-Z UNF7/16-20 25 | 13.1
- UNEF5/16-32 P3 6.7 M2.6x0.35 - =
26035 T Wes/ets Py Mae0s 20| 104 i/ % | 1
2 2% o S UNF3/8-24 P3 8.1 M3.0x0.35 20 1.9
- UNEF3/8-32 P3 8.1 M3.0x0.5 200 | 104wy /840 20 | 10.4
50038 E‘z‘ 20— Ne7/16-14 P3 9.3 -M3-0x0-BtomsSom 20 Hg W5/32-32 20 | 104
e i 5 UNE7/16-20 P3| 10.4  M4.0x0.35 gg g Wa/16-24 20 | 104
. P3 33 UNC1/2-13 P3 9.3 M4. 0x0. 5 2 10.4 W1/4-20 20 10.4
P4 33 UNF1/2-20 P3 10.4 M4.0x0.7 2 19 W5;16—18 25 11.9
: WA x0T s s 9 W3/8-16 25 | 11.9
) W Ox0 7o
3. 540, 6 P> | 33 TubeTapping ,, 505 %0 | 04 Nriets | 1.9
) PS1/16=28 Lt 5 3|l : W4.5x0. 75 ] N :
Ei g g PS1,/8-27 (S yal 5 ailind 6.7 N5, oio. 35 gg H Z
M4. 0x0. 35 P2 47 PS1/8-281 o juli 262‘ 74 M5. 0x0. 5 20 10. 4
M4. 0x0. 5 P2 4.7 PS1/A~14 A5 sal 3 xilin) 2o R 20 11.9
eI L eIt | ) ememssme
_ L. . 0x0. 20 _
P4 3.3 | PS1/419LE, 5 2 lais 2T W 0x0.75 20 10. 4
M4. 0x0. 75 Py | 47 PSY/BBLS s | TS W6 0x1. 0 20 | 119
M4. 5x0. 5 P2 4.7  PS3/8-19Lalh 5 3 ylailini 171 M6.0x1. 0L sSne O 25 13.1
M4. 5x0. 75 P2 3.6 PS1/2-14 Ayl 3 jlabin 254 M7.0x0.5 25 | 13.1
M5. 0x0. 35 P2 4.7 PS1/2-14 il 5 o laitil . M7. 0x0. 75 25 1.9
38.1
M5. 0x0. 5 P2 4.7 PS3/4-14 Lilimgiean | 35 38.1 M7.0x1.0 25 13.1
mges || RS
' PS1-11.1-2 6.7 - 0x0. :
M6. 0x0. 35 Eé gg L g’z mg: 8§1: 25 %g 1;?
M6. 0x0. 5 P2 4.7 PT1/1 6‘2§ R “\J‘ff““‘ 146 M8.0x1. 25L 0 sSan (2125 13.1
Mé6. 0x0. 75 P2 4.7  PT1/8-28Lil 5 o lailinl 183 M9.0x0.5 25 13.1
Mé6. 0x1. 0 P2 3.6 PT1/4-19 Wil 5 5 jlaslin) 25' 0 M9. 0x0. 75 25 13.1
Ei 3-2 PT3/8-19 Luliy 5 o jlailial 419 M9 Ox1.0Q gg 1;?
- ‘ M9. Ox1. 25 -
A7 0x0 75 by | 61 PTaAlGeno e | 67 MOKOS SRR
M7.0x1. 0 P2 | 53  PTI-11Lak s ubu A7 T 25 | 13.1
mg gxg 25 E% Z ? 183 M10x1.25 25 1.9
8. 0x0. 75 P2 | 61 ' 2.0 B AR
8. 0x0. 7 5 &1 NPT1/8-07 ddgmehs JStul | 41,9 MADxlSloasSaaglis 25 1.9
M8, 0x1. 25 p2 | 53  NPT1/4-185 ) 2 il W 1x1.0 2| g
o P3 5.3 NPT3/8-18 S el 2 i M %xO.S 25 | 131
M9 0x0. 5 P3 8.1 NPT1/2-14 45, sl 3 ylailid m 2§(1)' 35 25 13.1
M9. 0x0. 75 P3 8.1 NPT1/4-14 Sl 2 ylind M2t 25 25 | 131
M9. Ox1. 0 P3 81 NPTI-11.1-2 oA E 25 | 1.9
3%031525 Eg g? N 2 25 | 13.1
M10x0. 75 P3 8.1 Lz, dilbunen O g gg %g 8
M10x1. 0 P3 8.1 M14x1. 0 38 | 25.0
M10x1. 25 P3 8 1 M14x1. 25 38 | 23.6
M10x1.5 P3 6.9 praxt.y 38 25.0
M14x2. 0
P4 6.9
M11x0.5 P3| 10.4 Mi6x1. 0 gg %gg
M11x0. 75 P3 | 10.4 M16x1. 25 38 | 23.6
M11x1. 0 P3 10. 4 M16x1.5 '
M11x1.5 P3 9.3 M16x2. 0
M12x0.5 P3| 10.4
M12x0. 75 P3 | 10.4
M12x1.0 P3 | 10.4
M12x1. 25 P3 | 10.4
M12x1.5 P3 | 10.4
M12x1. 75 P3 9.3
P4 9.3
M14x2. 0 P3| 10.4
M16x2. 0 P3| 13.1

ot a3y 38 5 bl (i3 5 Jua Juld 5V Chend,

O 00 o wl Y LAY OBllas ol
i yhy Jaagl el s 458 a pidls & a5 @VA@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

J}mA.A Je}L.Aﬂ

odd ChAw 5 (93

Materials £ oMasdle 43 ala GLl

CCGT060202 CBN1
CCGT060204 CBN1

CCGT060208 CBN
CCGTO9T302 CBN
CCGTO9T304 CBN
CCGTO9T308 CBN
CCGT120402 CBN
CCGT120404 CBN
CCGT120408 CBN

1
1
1
1
1
1
1

SIS T °
Turning Inserts

e

poizasll 5 e
e biasile 4y fala OLﬂLf,

CCGT060202 PCD
CCGT060204 PCD
CCGTO9T302 PCD
CCGT09T304 PCD
CCGTO9T308 PCD
CCGT120402 PCD
CCGT120404 PCD
CCGT120408 PCD

1
1
1
1
1
1
1
1

cooooo0o00 |[coooo0000
OBRANOORANIBAN CORNOORANOOIAN

00000000 |00
00000000 |0~0-0-0-0-0000

Lo 5ia o saiza sl 5 (s

s oadle 4 galy plaly

CCGT060202-AL
CCGT060204-AL
CCGT060208-AL
CCGTO9T302-AL
CCGT09T304-AL
CCGTO9T308-AL
CCGT120402-AL
CCGT120404-AL
CCGT120408-AL

ZKO1
ZKO1
ZKO1
ZKO1
ZKO01
ZKO1
ZKO1
ZKO01
ZKO01

OO0 00
ORNOANDOIAN

NNNAAAAAA
WWWAAD

Koy aum a¥ g il

CCMT060204 ZM3
CCMT060208 ZM3
CCMT09T304 ZM3
CCMTO09T308 ZM3
CCMT120404 ZM3
CCMT120408 ZM3

0
0
0
0
0
0

coeeoce
[o o >N N N0 I

NN = = =

AANNOO

=3

JE X

a3 g dass e Srel

CCMT060204-FG
CCMT09T304-FG
CCMTO9T308-FG

ZN60
ZN60
ZN60

eee
[« W NIN

0 O~

K IPRTIVE .‘L"Li A4y Coladal

s oY b g dagie Sl
2| sy Slals 4y Gladad

CCMT060202-HQ
CCMT060204-HQ
CCMT09T302-HQ
CCMTO09T304-HQ

ZN60
ZN60
ZN60
ZN60

coe
ANAN

RN NN
Rl NN

-

G a¥ 8 5 dawgie Sl

A1) sanw oLl 40 Gilalad

CCMT060204-MT
CCMTO9T304-MT
CCMTO9T308-MT

ZN60
ZN60
ZN60

coo
0 0 N

O O

ey

'E_'_ﬂ
—

Cermet 53 Y 58
23 sz oLl 43 Gilalad

CCGT060202EL-U
CCGT060204EL-U
CCGTO9T302EL-U
CCGTO9T304EL-U

ZN90
ZN90
ZN90
ZN90

e
ANAN

ARAAA
cococo

o)

Cermet 53 Y 58

23 s oLl 4 Gilalad

CCGT060202ER-U
CCGT060204ER-U
CCGTO9T302ER-U
CCGTO9T304ER-U

ZN90
ZN90
ZN90
ZN90

SLCL
ANAN

e
cococo

J}.AAAA ):\jl..a'i

)

T

CNMG120402 GBN1 0.2 | 69
] CNMG120404 CBN 0.4 | 69
h CNMG120408 CBNT 08 | 69
ol Dt g Jia
Materials (& Sdxdle 49 580 HLU
Q CNMG120402 PCD1 0.2 | 69
CNMG120404 PCD1 0.4 | 69
* CNMG120408 PCD1 0.8 | 6.9
psdan sl g e
sleidbla 4y sl HLL
@& CNMG120404-TM ZC25 | 0.4 | 2.6
Lo CNMG120408-TM ZC25 | 0.8 | 2.6
. CNMG120412-TM ZC25 | 1.2 | 2.6
L sia (5aY 8 5 K andla
CNMG120408R-X ZC25 | 0.8 | 2.6
CNMG120408L-X ZC25 | 0.8 | 2.6
CNMG120404-TM ZC35 | 0.4 | 2.6
CNMG120408-TM ZC35 | 0.8 | 2.6
CNMG120404-HA ZKO1 | 0.4 | 2.0
CNMG120408-HA ZKO1 | 0.8 | 2.0
CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
oAl ) did T gl (0 S0 EL
CNMG120404 ZK50 0.4 | 2.6
CNMG120408 ZK50 0.8 | 2.6
ol 31 38 ete o8 auile
CNMG120408-HS ZM30 | 0.8 | 2.6
CNMG120404-MA ZM30 | 0.4 | 2.6
CNMG120408-MA ZM30 | 0.8 | 2.6
CNMG120404-MS ZM30 | 0.4 | 2.6
CNNMG120408-MS ZM30 | 0.8 | 2.6
CNMG120404-HQ ZN60 | 0.4 | 2.3
CNMG120408-HQ ZN6O | 0.8 | 2.3
[EESNE) RN PR SR
] eavn 1 bl 4y sl g
Fr—omr
b
/ Q CNMG120404-TS ZN60 | 0.4 | 2.3
S e CNMG120408-TS ZN6O | 0.8 | 2.3

a3l ey T yie Sal ju

5] oy

Gl 4y 58 g Glalla (Jai 5 Jea Jald AVL Cand,

O 0 el Y Ak Olalas e,

Ll 4y e

i jis Jae) Lala] M) g 4358 8 (1D &) gea eva@ngtool_cn

http:// www.mzg.tw


http://www.mzg.tw

J e }L.a'i

edub 1 g (Jam
Materials ¢ Famila 41 pals pbl

Gos E o

Turning Inserts

DCGT070202 CBN1
DCGT070204 CBN1
DCGT070208 CBN1
DCGT11T301 CBN1
DCGT11T302 CBN1
DCGT11T304 CBN1
DCGT11T308 CBN1
DCGW11T308 CBN1

oo AN =0 AN B

eoizell 5 one
sabapile 43 pals pbly

DCGT070201 PCD1
DCGT070202 PCD1
DCGT070204 PCD1
DCGT070208 PCD1
DCGT11T301 PCD1
DCGT11T302 PCD1
DCGT11T304 PCD1
DCGT11T308 PCD1

POLOOOORe PO eo

OAN—=00AN—

00000000 | OO0
~0 "0 000000 | 00000000

!.‘/
e

o st o grigasll Ly onn

DCGT070202-AL
DCGT070204-AL
DCGT11T302-AL
DCGT11T304-AL
DCGT11T308-AL

ZKO01
ZKO01
ZKO01
ZKO01
ZKO01

DO OOoo
©ANAN

RN NN N
[e N e N A

g abansle 49 ryala bl

;ﬁ.i_j duda 2 o8 TR

DCMT070204-MV
DCMT11T304-MV

ZM30
ZM30

oo

~N o

;ﬁ.i_j duda 2 o8 TR

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

[ooJi=N

~N -~

Coa 2V 58 5 o gie Sowl

A3} daaw ',LJLf 4a Gladad

DCMT070204-FG ZN60
DCMT11T302-FA ZN60
DCMT11T304-FG ZN60

ceg
ANN

O O~

o oV b g daw gie el e
Al oy g lals da iladad

DCMT070202-HQ ZN60
DCMT070204-HQ ZN60
DCMT11T302-HQ ZN60
DCMT11T304-HQ ZN60

Cooo
ANAN

OO NN

=

Cermet cass oY 5s
il sara ) bl 4 lds

DCGT11T302FL-U ZN90
DCGT11T304FL-U ZN90

e

AN

oo

Cermet 2 3= JY}é

230 paga ) Ol 4g Silalad

DCGT11T302FR-U ZN90
DCGT11T304FR-U ZN90

e o
AN

[eNe)

J}mA.A Jasbal

&

DNMA150404 CBN1 0.4 |6.9
DNMA150408 CBN1 0.8 6.9
el Clan 5 ()as
Materials ol 43 pols pbly
DNMA150404 PCD1 0.4 | 6.9
DNMA150408 PCD1 0.8 | 6.9
ot 5 pus
sbails 45 gola pbb
DNMG150404-HA ZKO1 0.4 | 4.3
DNMG150408-HA ZKO1 0.8 | 4.3
DNMG150604-HA ZKO1 0.4 | 4.9
DNMG150608-HA ZKO1 0.8 4.9
DNMG110404-FG ZN60 0.4 |26
Csd oY sd g o gie Sl
2 oz Ol 4g cladad
DNMG150404-HQ ZN60 0.4 |26
DNMG150408-HQ ZN60 0.8 | 2.6
A AV 5 T Sl
K PRIV '|1.4L:|‘ 4 ulalad
DNMG150404L-VF ZN60 0.4 |26
AV gl A g law gle Sl ju
il s a4y la 1nd
DNMG150404R-VF ZN60 0.4 |26

Y g Gl g dnas e Sl

23) sy Olily 43 Giladad

Gt 43y 58 5 Glla (Jis 5 Jaa Jald 3V s,

O Y Kawl Y LAY O llas il

i ds Jaag) Lidad LM gae 4368 4 (RSN G gaa a: eva@ngtool_cn

http://www.mzg.tw



http://www.mzg.tw

Gus E oo
Turning Inserts

J}mA.A Jst.A:\ = A JA ):\jl..a'i GlunAdia R
TBGT060102 CBN1 0.2 | 6.9
- TCGT110302 CBN1 0.2 | 6.9
TCGT16T302 CBN1 0.2 | 6.9
S SNWGI20408 GBI | 08 | 69 TOGTI6T304 GBNI | 0.4 | 69
o35 G 3 (yis ; ) TCGT16T308 CBN1 0.8 | 6.9
Matariat o2 JSuitla 4o citla TPGT080202 CBN1 0.2 | 6.9
- TPGT080204 CBN1 0.4 | 6.9
TPGT090202 CBN1 0.2 | 6.9
TPGT090204 CBN1 0.4 | 6.9
@ gwmens 0o
. - : TPGT110204 CBN 0.4 | 6.9
astbia sl 5 Oue TPGT110302 CBN1 0.2 | 6.9
ISt & s oL ok ik 5 gaa TPGT110304 CBN1 0.4 | 6.9
R Materials 5 )\Sauile 40 5ol UL | TPGT110308 CBN1 0.8 6.9
TBGT060102 PCD1 0.2 | 6.9
SNMG120408L-S ZC25 | 0.8 | 2.6 TCGT110202 PCD1 0.2 | 69
TCGT110204 PCD1 0.4 | 6.9
TCGT110304 PCD1 0.4 | 6.9
rN TCGT16T302 PCD1 0.2 | 6.9
; TCGT16T304 PCD1 0.4 | 6.9
4 TCGT16T308 PCD1 0.8 | 6.9
TPGT080202 PCD1 0.2 | 6.9
SNMG120408L-S ZC35 | 0.8 2.6 TPGT080204 PCD1 0.4 | 6.9
TPGT090202 PCD1 0.2 | 6.9
TPGT090204 PCD1 0.4 | 6.9
) S (53132 Hard Steel TPGT110204 PCD1 0.4 | 6.9
: JRPTETTI YN e TPGT110302 PCD1 0.2 | 6.9
6 \Snile 4y gala ol TPGT110304 PCD1 0.4 | 6.9
SNMG120408R-S ZC25 0.8 2.6
PR TBGT060102L ZN9O 0.2 | 3.4
3V 5 GEA B TBGT060104L ZN9O 0.4 | 3.4
T T ~ TCGT110202L ZN9O 0.2 | 34
TCGT110204L ZN9O 0.4 | 3.4
. TPGH080202L ZN90 0.2 | 3.4
SNMG120408R-S ZC35 | 0.8 2.6 ! 7 A TPGH080204L ZN90O 0.4 | 3.4
| —— TPGH090202L ZN90 0.2 | 3.4
TPGH090204L ZN90 0.4 | 3.4
) CREA 5513 g Hard Steel TPGH110302L ZN90O 0.2 | 3.4
TPGH110304L ZN9O 0.4 | 3.4
CisA Y 5 5 s gie Sl s
SNMG120408-TM ZC25 | 0.8 2.6 25} e ) (L 4o Ciladsd
S TBGT060102L-W ZN90 0.2 | 3.4
\ TBGT060104L-W ZN9O 0.4 | 3.4
‘ TPGT080202L-W ZN90 0.2 | 3.4
i - TPGT080204L-W ZN90 0.4 | 3.4
~ P TPGT090202L-W ZN90 0.2 | 3.4
oAMG120d00 A 2KO1 1 0.2 | 20 TPGT090204L-W ZN9O | 0 4 | 3 4
} : ) Y s L e Kl TPGT110302L-W ZN90 0.2 | 3.4
Lo ge gl 5 o TR SR s mese s | TPET110304L-W ZN9O 0.4 | 3.4
Ii&iiA i-“j i_u 230 e Glals 4 iladad
TCMT090202-HQ ZN60 0.2 1.7
. TCMT090204-HQ ZN60 0.4 1.7
SNMG120408-MA ZM30 0.8 2.6 e TCMT110202-HQ ZN60 0.2 1.7
TCMT110204-HQ ZN60 0.4 1.7
L ¢ ﬁ TCMT110208-HQ ZN60 0.8 1.7
B3 anm 2Y 6 B e TCMT16T304-HQ ZN60 0.4 2.4
(sa AV g L sie (Sasl o | TPMT110304-HQ ZN6O 0.4 .7
SNMG120404-MS ZM30 | 0.4 | 2.6 2l ey Ol 4 ladis | TPMT110308°HQ ZN6O | 0.8 -
TCGT090202-AL ZKO1 0.2 1.4
r TCGT090204-AL ZKO1 0.4 1.4
o TCGT110202-AL ZKO1 0.2 1.4
SNMG120404-HQ ZN60 | 0.4 | 2.3 f N TCGT110204-AL ZKO1 0.4 1.4
SNMG120404-HQ ZN60 | 0.8 2.3 S ) TCGT110302-AL ZKO1 0.2 1.6
oA TCGT110304-AL ZKO1 0.4 1.6
— TCGT16T302-AL ZKO1 | 0.2 | 1.7
TCGT16T304-AL ZKO1 0.4 1.7
) TCGT16T308-AL ZKO1 0.8 1.7
SCMT09T304-MT ZN60 | 0.4 | 1.9 b sie pspizasll 5 e
G o\Saile 43 03ty olaly
Csd oY 58 s Sa sie Kl
231 ey oLl 4r Giladad
SCGT09T304-AL ZKO1 0.4 1.4 TCMT110204 ZM30 0.4 1.6
SCGT09T308-AL ZKO1 0.8 1.4 TCMT110208 ZM30 0.8 1.6
SCGT120404-AL ZKO1 0.4 1.9 TCMT16T304 ZM30 0.4 2.3
SCGT120408-AL ZKO1 0.8 1.9 TCMT16T308 ZM30 0.8 2.3
L,*,JAHJJMJM 5 U i —
Sleas ool gLl 4 J iz Y 58 8 30

Gl 439 38 Glalla (Jai 5 Jea Jald YL Cand,

O o G al Y Al Olelas e,
s iy aagl Ll e 4358 a3l & 5em 0 @VA@MZGtool.cn http://www.mzg.tw


http://www.mzg.tw

CBENaBL
Turning Inserts

JJA.A )ﬂ}[..ai = 35 J}mA.A Je}L.Aﬂ
TNMG160404L-C ZN6O | O. 1.9
TNMA160402 CBN 0.2 | 6.9 TNMG160408L—C ZN60 | 0.8 | 1.9
TNMA160404 CBN1 0.4 | 69
TNMA160408 CBN1 0.8 | 69 TNMG160404R-C ZN60 | 0.4 | 1.9
s i 5 (o TNMG160408R-C ZN60 | 0.8 | 1.9
Materials sl iuile 43 pola oL
TNMG160404L-S ZN60 | 0.4 | 1.9
TNMA160402 PCDT 0.2 | 69 TNMG160408L-S ZN60 | 0.8 | 1.9
TNMA160404 PCD1 0.4 | 69
TNMA160408 PCD1 0.8 | 69 TNMG160404R-S ZN60 | 0.4 | 1.9
. TNMG160408R-S ZN60 | 0.8 | 1.9
o M ile 4s )3 oLl
3
; TNMG160404-CQ ZC25 | 0.4 | 2.3 TNMG160404L-VF ZN60 | 0.4 | 1.9
TNMG160408-CQ 2625 | 0.8 | 2.3 TNMG160408L-VF ZN60 | 0.8 | 1.9
TNMG160404-HQ 2625 | 0.4 | 2.3 TNMG160404R-VF ZN6O | 0.4 | 1.9
TNMG160408-Ha 2625 | 0.8 | 2.3 RVF, _  LVF TNMG160408R-VF ZN60 | 0.8 | 1.9
G Y5 5 D s Saal
_‘_\.\ AT MLL._ALLQS
TNMG160404L-S ZC25 | 0.4 | 2.3 TNMG160404L—FS ZN6O | 0.4 | 1.9
TNMG160408L-S 2625 | 0.8 | 2.3 TNMG160408L—FS ZN60 | 0.8 | 1.9
TNMG160404R-S ZC25 | 0.4 | 2.3 TNMG160404R-FS ZN6O | 0.4 | 1.9
R-S L-S TNMG160408R-S 2625 | 0.8 | 2.3 TNMG160408R-FS ZN60 | 0.8 | 1.9
AY 58 AA b
TNMG160404L-S 2635 | 0.4 | 2.3
TNMG160408L-S 2€35 | 0.8 | 2.3 TNMG160404-HQ ZN6O | 0.4 | 1.9
TNMG160404R-S 2C35 | 0.4 | 2.3 L ey 08| 1.9
R-S L-S TNMG160408R-S 2635 | 0.8 | 2.3 Byl
OV P 5313 )3 Hard Steel Tl anie ) il 4 el
g 1 w04 | 2.3 - TNMG160404-MT ZN6O | 0.4 | 1.9
LA AT B .y . 05 | 23 TNMG160408-MT ZN6O | 0.8 | 1.9
"‘ TNMG160412-TM 2625 | 1.2 | 2.3 —— : :
o sy Jow 5rel
-me 2 g8 (g sldndile S i ) s e lal
TNMG160404-TM 2635 | 0.4 | 2.3 TNMG160404-TS ZN6O | 0.4 | 1.9
TNMG160408-TM 2635 | 0.8 | 2.3 W amein TNMG160408-TS ZN6O | 0.8 | 1.9
[
Jeungia oy oy af gh g dow gie el ju
oY ¢ i g yISGadla 230 oa ) by 4a iladad
TNMG160402-HA ZKO1 | 0.2 | 1.9
TNMG160404-HA ZKO1 | 0.4 | 1.9
TNMG160408-HA ZKO1 | 0.8 | 1.9
S gio cgttvall g pus
N \SJ“LAA_I\_)_)J Ll
TNMA160404 ZK50 0.4 | 2.3
TNMA160408 ZK50 0.8 | 2.3
TNMG160404 ZK50 0.4 | 2.3 '

TNMA TNHG | TNMG160408 ZK50 0.8 | 2.3 V. O\ | TNooteodoal-p zn90 | 0.2 | 3¢
Medium Rough  Jrssecis ) ) TNGG160404L-P ZN90 | 0.4 | 3.6
¢ MszalaCast lron LsgssmamCastlron L

. ﬂk TNGG160402R-P ZN90 | 0.2 | 3.6
.| TNMG160404-HA ZM30 | 0.4 | 2.3 RP L p T o IR
TNMG160408-HA ZM30 | 0.8 | 2.3 R tsh YA
TNMG160404-MA ZM30 | 0.4 | 2.3 A od Ol 43 lakd
TNMG160408-MA ZM30 | 0.8 | 2.3
TNMG160404-MQ ZM30 | 0.4 | 2.3
TNMG160408-Ma ZM30 | 0.8 | 2.3
y N e TNGG160402L-S ZN90 | 0.2 | 3.6
S5 s Y B 5 @ .| TNGG160404L-S ZN9O | 0.4 | 3.6
A H H TNGG160402R-S ZN90 | 0.2 | 3.6
R-3 L-S TNGG160404R-S ZN90 | 0.4 | 3.6
TNMG160404-MS ZM30 | 0.4 | 2.3 Cormet i 5a Y 58
TNMG160408-MS ZM30 | 0.8 | 2.3 351 oagun; Olaly 43 lasd
JK.‘\J‘ dudn Y 58 Sl
Crond 43 a5 lidle (J85 5 Jea Juld YU Cod,
O o WG al ¥ Jlals Olelas e,
2 yhy aag) GBI s 458 5 il &m0 @VA@@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

CBXNGEE
Turning Inserts

J}mA.A Jaslal = A5 J}.AAAA ):\jl..a'i
VBMT110302 CBN1 0.2 | 6.9 -
VBMT110304 CBN1 0.4 | 6.9
VBMT160402 CBN1 0.2 | 6.9 VNMG160404 CBN1 0.4 | 6.9
8 VBMT160404 CBN1 0.4 | 6.9 VNMG160408 CBN1 0.8 | 6.9
. VBMT160408 CBN1 0.8 | 6.9 1IN .
M at | 15 amble 4 als
VCGT110302 CBN1 02 | 69 e s
VCGT110304 CBN1 0.4 | 6.9
VCGT110308 CBN1 0.8 | 6.9
VCGT160404 CBN1 0.4 | 6.9 VNMG160404 PCD1 0.4 | 69
e VCGT160408 CBN1 0.8 | 6.9 . VNMG160408 PCD1 0.8 | 6.9
Materials ¢ ol o oo ol | VCGT160412 CBN1 1.2 | 6.9 p i sl g e
g S dle 4n fala lals
VBGT110301 PCD1 0.1 | 6.9 s Rty
xggmgggﬁ Egg} 8‘21 2-3 VNMG160404-TM ZC25 | 0.4 | 2.7
Vi i o8 | &0 VNMG160408-TM 2C25 | 0.8 | 2.7
VBGT160402 PCD1 0.2 | 6.9 .
VBGT160404 PCD1 0.4 | 6.9 D ghe oY b oyl BL
VBGT160408 PCD1 0.8 | 6.9
. VCGT110301 PCD1 0.1 | 6.9
VCGT110304 PCD1 0.4 6.9 VNMG160408-TM ZC35 0.8 2.7
VCGT110308 PCD1 0.8 | 6.9 L gie L
VCGT160401 PCD1 0.1 | 6.9 Y rm et 1510
VCGT160402 PCD1 0.2 | 6.9 :
VCGT160404 PCD1 0.4 | 6.9
VCGT160408 PCD1 0.8 | 6.9
asiasll 5 e VCGT160412 PCD1 1.2 | 6.9 VNMG160404-AL ZKO1 0.4 | 2.3
6 OSaile 43 ala LGl VNMG160408-AL ZKO01 0.8 2.3
VBGT110302-AL ZKO1 0.2 | 1.1 B sto o aizasl] 5 o
VBGT110304-AL ZKO1 0.4 | 1.1 e Bdadile 4y 12l
VBGT160402-AL ZKO1 0.2 | 2.0
VBGT160404-AL ZKO1 0.4 | 2.0
VBGT160408—-AL ZKO01 0.8 2.0 VNMG160404 ZM30 0.4 2.7
VNMG160408 ZM30 0.8 | 2.7
VCGT110302-AL ZKO1 0.2 | 1.1
VCGT110304-AL ZKO1 0.4 | 1.1 L oa1S
VCGT160402-AL ZKO1 | 0.2 | 2.0 B3 a0V Sy
o e iz sl g o VCGT160404-AL ZKO1 0.4 | 2.0
Rt 15 ol e VCGT160408-AL ZKO1 0.8 | 2.0
VNMG160404-HS ZM30 | 0.4 | 2.7
VNMG160408-HS ZM30 | 0.8 | 2.7
VBMT160404-MV ZM30 | 0.4 | 3.7 GG 2 b s s
VBMT160408-WV ZM30 | 0.8 | 3.7 Shex sl S
VNMG160404-MT ZN60 | 0.4 | 2.3
VNMG160408-MT ZN60 | 0.8 | 2.3
VBMT110304-Ha ZN60 | 0.4 | 2.7 ek Ut et Al
VBMT160404-HQ ZN60 | 0.4 | 3.4 Hleap s Glily 4y &
S Y g g Tan g Sl ys
A sy Slals da Ciladad
VBMT160404-MT ZN60 | 0.4 | 3.6
s Y s 5 o sie Sl yu
A3 odnw il 4n ciladad
VBGT110302L ZN90 0.2 | 4.7
VBGT110304L ZN90 0.4 | 4.7
Cermet i gs oY o
Al ey Glaly 4q Eiladad
//_ -
et _ VBGT110302R-Y ZN90 | 0.2 | 4.7
: VBGT110304R-Y ZN9O | 0.4 | 4.7
Cermet‘,—'ji -‘37_95
251 pagan 3 Glaly 4 Sladal

Gl 4y 54 5 Gllla ¢Jai 5 Jea Jald YL Cand,

O 0 el Y Al Olalase e,
S Jaagl Lk s 4358 s it @m0 @VAa@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

SUs T
Turning Inserts

Jd e }L.a'i

J}mA.A Je}L.Aﬂ

Y i s
@ | mwessoscan 04 o f’é? IWCoB040s- WA 2u30 | 04 | 2.6
‘ WNMGO80412 CBNT 12 | 69 —-;“ MUGOSOA0BTMA 2W0 | 0.8 ) 2
e Uiy s ~ L
Materials ws)sile 40 021 oy K um aY 58 h
B0 o Dy | &3 WNMGOBO404-MQ ZM30 | 0.4 | 2.6
: : WNMGO0408-MQ ZM30 | 0.8 | 2.6
WNMAO80408 PCDT 0.8 | 6.9
K85k oY b 5
WNMGOB0404-CQ ZC25 | 0.4 | 2.6 y
WNMGO80408-CQ 2625 | 0.8 | 2.6 NIOB0d0a s 20 | 0.4 2.0
WNMGO80412-CQ 2625 | 1.2 | 2.6 : :
Jos sia 5aY 58 (5l ila K35k a¥ 8 530
c
2’7/"‘ NS P
L) WNMGOB0404-HQ 2625 | 0.4 | 2.6 A WNMGOB0404-HS ZN60 | 0.4 | 2.3
2 M\C > ﬁ WNMGOB0408-HQ ZC25 | 0.8 | 2.6 i WNMGOB0408-HS ZN6O | 0.8 | 2.3
. . [EPEQRS JUEPI S P S SV
‘E""'}i"‘ é'\ng L§JLS\‘.‘ﬁ“3L" A a1l 4 ciladsd
/7 N [
S - 'm WNMGOBO404L-S ZC25 | 0.4 | 2.6
ﬁ =2 B 0.8 | 2.6 = X WNMGOBO404-HA ZN6O | 0.4 | 2.3
v --.-» WNMGOBO404R-S 2025 | 0.4 | 2.6 e WNNGOBO408~Ha ZNé0 | 0.8 | 2.3
WNMGOBO408R-S ZC25 | 0.8 | 2.6 |
\\1_53 A w)u); Tl e v‘_-)uu [ clabi
WNMGOB0404L-S ZC35 | 0.4 | 2.6 / \ WNMGOB0404L-X ZN6O | 0.4 | 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGOBO404R-S ZC35 | 0.4 | 2.6 WNMGOBO404R-X ZN6O | 0.4 | 2.3
WNMGOBO408R-S 2635 | 0.8 | 2.6 . s 1P WNMGOBO408R-X ZN6O | 0.8 | 2.3
VoA ) ﬁu‘nj e e
_) u 'SR HardSIeeJ oL 4 ciladsd
2 ok WNMGOB0404-TM ZC25 | 0.4 | 2.6 ‘/\, .
Z508 INNGOS0408-TM 2025 | 0 5 | 26 /O MNG0B0404NT ZN60 | 0.4 | 2.3
WNMGOBO412-TM ZC25 | 1.2 | 2.6 : :
TMZG25  TM ZC35 i ot o gl e
Lo gia g2V 58 o HlSanEla 50 ey Ll 43 laad
WNMGOB0408-CM ZC25 | 0.8 | 2.6 WNMGOB0404-TS ZN6O | 0.4 | 2.3
WNMG080412-CM ZC25 | 1.2 | 2.6 WNMGOB0408-TS ZN6O | 0.8 | 2.3
L gia 52 98 (5 HSaaila Csa Y58 g Jaw g Sowl ju
: 23} eagus y Olaly 43 Ciladad
WNMGOB0402-HA ZKOT | 0.2 | 2.3
WNMGOB0404-HA ZKO1 | 0.4 | 2.3
WNMGO80408-HA ZKO1 | 0.8 | 2.3
Jos 51 mste sl 5 pue
s oSadle 43 0ola ol
4 WNMGOBO404-HA ZM30 | 0.4 | 2.6
4 WNMGOBO408-HA ZM30 | 0.8 | 2.6
KA Y5 B
WNMAOB0404 ZK50 0.4 | 2.6
WNMAO80408 ZK50 0.8 | 2.6
oal ) GEA T st o )l
WNMGO0B0404 ZK50 0.4 | 2.6
WNMG080408 ZK50 0.8 | 2.6
AT 538 sate o iSinile

ot 43338 5 @bl (i 5 Jua Juld 3YL Coasd,

A1 Glalaa el

O 2 el HYa
il @ sea 3 @Va@mzgtool.cn

PPN http://www.mzg.tw

A 8 Jaan) Lokl


http://www.mzg.tw

g a0 UAA > L )

Thread Turning Tool

Jsana jaslaald Glnidldia Jseana a1 slaald
o 16ER 050180 ZP10 0.50 | 2.0
Machining 16ER 075180 ZP10 0.75 2.0
16ER 10010 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 125180 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 150180 ZP10 1.50 2.0 30 510 Pl ) A g 43 0
16ER 175180 ZP10 1.75 2.0 dusi DIN103 _
16ER 200180 ZP10 2.00 2.0 External g s s (i1 2
16ER 250180 ZP10 2.50 2.0
PeD1, 16ER 300180 ZP10 3.00 2.0
;’f\?_@iﬁmuw 16ER 3501S0 ZP10 3.50 2.0 16I1R 2TR ZP10 2.0 2.0
16ER A60 ZP10 0.5-1.5 | 2.0 16IR 3TR ZP10 30 20
16ER AG60 PCD1 0.5-3.0 | 6.9 30 5150 AT 5 43
16ER AG60 ZP10 0.5-3.0 | 2.0 s DIN103
) 16ER G60 ZP10 1.5-3.0 | 2.0 Internal s sia g so e £33 0
- 22ER 350150 ZP10 3.50 5.1 ZP10
22ER 400150 ZP10 4.00 5.1 General
- 22ER 500150 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch] 1700ty 2.0
B0 2ol da 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 Tinch1 4700ty 2.0
& s se (5310 22ER N60 ZP10 3.55.0 | 5.1 16ER 19W ZP10 Tinch] 9700t 2.0
16ER 24W ZP10 11nch24T00ty 2.0
SER1616H16 . 71 peoT 16ER 8W ZP10 1inch8Tooth | 2.0
SER2020K16 - 7.1 D s s 16ER A55 ZP10 0.5-1.5| 2.0
SER2525M16 - 93 TR 16ER AG55 PCDI 0.5-3.0| 6.9
SER2020K22 a 9.6 16ER AG55 ZP10 0.5-3.0| 2.0
SER2525M22 - 13.1 16ER G55 ZP10 1.5-3.0| 2.0
B-SEL SER SER3232P22 - 20.3 22ER N55 ZP10 3.5-5.0| 5.1
B-SEL1212H16 - 9.6
B-SEL1616H16 - 9.6
B-SEL2020K16 - 9.6 ZP10
Brlemal € = SOl | B-SEL2525M16 . 13. 1 it 06IR A55 ZP10 0.5-1.25| 4.7
ZP10 06IR A60 ZP10 0.5-1.25 | 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 150180 ZP10 1.50 4.1 111R 19W ZP10 Tinoh19Toote| 2. 0
Machining 08IR A40 ZP10 0.5-1.5 | 4.1 16IR 11W ZP10 Tinon1 1700t 2. 0
111R 15010 ZP10 1.5 2.0 16IR 12W ZCO1 Tinoh12Toote| 2. 0
111R 200180 ZP10 2.0 2.0 oo 16IR 14W ZP10 Tinoh14Toot| 2. 0
111R A60 ZP10 0.5-1.5 | 2.0 e ) 16IR 19W ZP10 Tinoh19Toote| 2. 0
16IR 05010 ZP10 0.50 2.0 i o sl 16IR A55 ZP10 0.5-1.5| 2.0
16IR 075180 ZP10 0.75 2.0 ' 16IR AG55 PCD1 0.5-3.0| 6.9
16IR 100180 ZP10 1. 00 2.0 16IR AG55 ZP10 0.5-3.0| 2.0
.. 16IR 125180 ZP10 1.25 2.0 f ;g:s ﬁgg %mg ;.g:g.g g?
SR 1 S N B o8
. . . ) . -y
ol 4 03 L 1 q61R 200150 ZP10 2.00 2.0 S el
IR0 OBIONY - 750 | 20 6ER N P10 i 20
' : 16ER 14UN ZP10 Tinoh14To0te| 2.0
16IR 350150 ZP10 3.50 2.0 T e S o o0
16IR A60 ZP10 0.5-1.5 | 2.0 A T S LA I
16IR AG60 PCD1 0.5-3.0 | 6.9 . Inh OTooth \Z.
161R AG60 ZP10 0.5-3.0 2.0 SD&"%‘" ‘f")‘j Az 16ER 20UN ZP10 1 1nch20Tooth 2.0
161R G60 ZP10 1.5-3.0 | 2.0 Loy
22IR 350150 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 16IR 12UN ZP10 Tinon1 2toott| 2.0
221R 5001S0 ZP10 5. 00 5.1 16IR 14UN ZP10 Tinoh14Toote| 2.0
as 0 Te Jals # s | 221R 600180 ZP10 6. 00 5.1 16IR 16UN ZP10 Tineh16Tooth 2.0
& saaga )z 221R N60 ZP10 3.5-5.0 51 16I1R 18UN ZP10 1inch18T00th 2.0
6015 e om i ¢ Ly s 4n o 16IR 20UN ZP10 T1nch20Toote| 2. 0
SNROO05K06-A12 - 7.1 e i
SNR0007J08 - 5.1
SNROOOSK08 _ 5 1 16ER 11BSPT ZP10 Tinoh11To0te| 2.0
16ER 14BSPT ZP10 Tinoh14Tootr| 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 p 5 4 16ER 28BSPT ZP10 T1nch28Toote| 2. 0
SNROO13N16 - 6.1
SNROO14N16 - 6.7
SNR0016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinoh1 1700t 2.0
SNR0025S816 - 1.7 16IR 14BSPT ZP10 Tinoh14tooty| 2.0
SNR0032T16 - 20.3 wNBEET ke
Slaly Jalaalgd
SNRO020R22 - 10.7 E
L SNR0025822 - 14.3
AR g s SNRO032T22 - 22.9
& saasa 513 16ER 11.5NPT ZP10  |1,11. 50| 2.0
16ER 14NPT ZP10 Tinch1dtootn| 2.0
TKFT. . o TIP.. 16ER 18NPT ZP10 Tinoh18Tcotn| 2.0
lo TKFT6001 ZP15 0.5-3.0 | 5.9 NPT § s 52 415)
External® gaia oo \i'\\‘\ﬁ
S e bl TTP6001 ZP15 0.5-3.0 | 5.9
Ll 5
— 16IR 11.5NPT ZP10  firenl. Srooth 2.0
- 161R 14NPT ZP10 Tinch1dtooth| 2.0
TTPR12 - 9.3
e 11DR16 - 11.7 203 1 NPT o e 415
§ sam ga )12 g

Craegd ady 5 5 Glalla (Jad 5 Jea Jald H3VWL Gald,
O 00 el Y Al Olelas e,

- i jiy Qe Lk g 5 a3 &m0 @Va@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

Jsana 1 slaaid

_LOA

Sisase Bl go e 05-3mm g2 51-2 2mm

A2 i g Qysads ol el gasae N sa

J\A}S Silalad OJJ\.SJ% / ufi)g / ufia).)

Cut-Off/Grooving/Back Turning Of Small Parts

T16E100 ZP15
T16E150 ZP15
T16E160 ZP15
T16E200 ZP15
T16E250 ZP15
T16E300 ZP15

IO =
cvwoouo

W W ww W
cocococoo

SER1616H16
SER2020K16
SER2525M16

O NN
JRRCHN

&
o

Sl G e 0.5-3 mm Ges 5 1-2.2mm

e O gaa ds Ol 55 a |y gasan 3 ga

T11N100 ZP15
T11N150 ZP15
T11N200 ZP15

T16N100 ZP15
T16N150 ZP15
T16N160 ZP15
T16N180 ZP15
T16N200 ZP15
T16N230 ZP15
T16N250 ZP15
T16N300 ZP15

Moo=
ocwo

BANNN = = ==
CUWO oo

W
coco

OCOO0OO0OOOO0OO0O

SNROO10K11
SNROO12M11

SNROO13N16
SNROO14N16
SNR0016Q16
SNROO20R16
SNR0025S16

QO | PWWWWWwW
PN

INooo
LeNNo

&

/:?pei\ llliiilill.
N %

Slaked (5o 8 b aladaa i o

CTP10FR ZP15
CTP15FR ZP15
CTP20FR ZP15
CTPA10FR ZP15
CTPA15FR ZP15
CTPA20FR ZP15

Ny
cuvwocowuo

oo oY
[eNFoNFoNINCRNCRN)

R

i )
\lV@LHJeﬁahﬁ

e 5l

CTP10FRN ZP15
CTP15FRN ZP15
CTP20FRN ZP15
CTPA10FRN ZP15
CTPA15FRN ZP15
CTPA20FRN ZP15

N
cuwocowuo

oo
000000

CTPSL
CTPASL.

CTPSL10
CTPSL12

CTPASL10
CTPASL12
CTPASL16

-
Ny}

O~

N
~pmo

CTPR/CTPAR. .

CTPRO8
CTPR10
CTPR12
CTPR16
CTPR20

CTPAR10
CTPAR12
CTPAR16
CTPAR20
CTPAR25

-
N

000
~NPPPo | wow

-
o

_\_\
AO000
w~NPPAH

S & aladad B8 3L

TTB6001 ZP15

5.9

TBPR10
TBPR12

TBPAR10
TBPAR12
TBPAR16

00
INEN

000
NN

J}.\AAA Jaslaal

( )
\L Gk Sa S lakad

[ e )N

Gladdia

TKF12R100-S ZP15
TKF12R150-S ZP15
TKF12R200-S ZP15
TKF16R100-S ZP15
TKF16R150-S ZP15
TKF16R200-S ZP15

N=N ==
cvwocouo

Width USD

5

oo

16°
Taper
TR
( |

N ¥

Ciladed Sa S By aladd (310

TKF12R100-S16R ZP15
TKF12R150-S16R ZP15
TKF12R200-S16R ZP15
TKF16R100-S16R ZP15
TKF16R150-S16R ZP15
TKF16R200-S16R ZP15

N
covnwoouo

oo

| <S>

TKFB6001 ZP15

KTKFSL.

KTKFSL1010JX12
KTKFSL1212JX12
KTKFSL1212JX16

1.9
1.9
1.9

KTKFR..

KTKFRO810JX12
KTKFR1010JX12
KTKFR1212JX12
KTKFR1616JX12

KTKFR1010JX16
KTKFR1212JX16
KTKFR1616K16

KTKFR2020JX16

o000 wvool
\‘bbb B e

43 01 Olaly o e Gl )3 el

FVC1604R150 ZP15
FVC1604R200 ZP15
FVV1604R300 ZP15

LN =,
cow

SVQCR2020K16-NJ

VG1604R250 ZP15 2.5 4.3

VG1604R300 ZP15 3.0 4.3
4 0 0Ll s e b )3 (pdila

SGIVFR16Q16 14.3

SGIVFR20Q16 14.3

SGIVFR25R16 16

SGIVFR.

ot a3y 38 5 llle (i3 5 Jua Juld iV e,

ST RN CURT R (RO FY RRGH, PAPPRCIVN-

i i Jaeal LD M g 438 8 (5818 &) am e eva@ngtool,cn

http://www.mzg.tw

O~ ONON0 00

[o e e N o Il o ] o]

RS
www



http://www.mzg.tw

J)...a;.n Jasblaal

5352 50 (wliSwl (a ye 0.3-3.2m
A3 Sy (3we 0.8-4 mm

RX| PN PP UV PON

D gl 020 )3 00

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

-

WNNNNNNPONNN = =S =

bl % Lt

O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!

‘S;Jlé LQJJJJ:\.».» G OWKE) 53 ) )
External Cylindrical Grooving Turning Tool

Width USD

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

J)...a;.a Jaslaald

S5 g0 (wliSwl (a e 0.3-3.2mi
(A3 Sy (3we 0.8-4 mm
23 g3 a gwgee 5w

Y gt 64 )3 03 )

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

WNRNRNNRNNNNNNN—E s

MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16
S20Q-KTGFL16
S25R-KTGFL16

9.3
1.0
13.1

S. . -KTGFR.

S16N-KTGFR16
S20Q0-KTGFR16
S25R-KTGFR16

9.3
1.0
13.1

Cownd 4dg 58 5 Gllle (Jis 5 Jaa

1
o

LS IV Caegd,

O 0 el ¥ LAty lelas g,

iy Jaaa) L] (s a3 € sl &, s o eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

GJA\J IPYEN QJJS t\Jj“ J\J.)\ / (59‘)1'5 Jﬁ.ﬂﬁ.m

External Cylindrical/: s .s1:.5 Turning Tool

Width USD

Jsaana jasliald

Ui g il

GER100-A ZP15
GER150-A ZP15

SIGER0606A-EH

SIGERO808A-EH
Dlgr A5

SIGERO808A-EHT

Width USD

RGN
oo

bl
~N~

19.0
1.9

1.9

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

S1GER1010B-EH
S1GER1210B-EH
Ol AV 4d
SI1GER1010B-EHT
S1GER1210B-EHT

DN = =
ocuvwouwo

AAASS
NN~

SRR RIL ST

" ler oY 5

Dlez Y58

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

SIGER1412C-EH
SI1GER1616C—-EH

SIGER1412C-EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1
G35 50 liSul G je 1.0-4.8mif
A3 5y (3we 2.0-5.0 mm
23 g3 a gagee ) 5w
2o 00y p3 03y 3
CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL..
SGBSL2020K43 - 10
SGBSL2525M43 - 14
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

/-~ .\)

LSl (= 0e 1.0-4.8mm
2 G+e 2.0-5.0 mm
2 55 pa (a gae 3 5a

25 03 )3 033 3

e SI1GER. .

iy =

Ui oAbl

e SIGER. .

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

AN~

oo Uouo

cooaaon
I A TN

o>
~w

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J0O7

SNGR10K07
J\-g_.l .\YJE

SNGR10K07

N — —

[@N¢, Ne)

JNIN
[o e e

0 oo
oo

SNGR. .

BNt

8GR200 ZP15
8GR300 ZP15

SNGR10K08

SNGR12M08
Ol AV 4d

SNGR10K08

W

oo

~O O

he
oo

CGBL.
CGBL1616H43 = 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16.4
CGBSR2020K43 = 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR2020K43 - 0.7
SGBSR2525M43 - 14.3

L;’Jf JJLS\@JLA

“.

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
[eNeoloNe)

AA
w=22
-0 ©

Cowad ady ja 5 Gllle (Jai 5 Jaa Jald 3V Ciagd,

O 0 el Y JJals Olelas Caagd,

Sy Jaagl Lkl ) s 458 s il @5 5r @VAa@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

BUBTINE =SS T g ENETN

Grooving/Cut-Off Turning Tool

Jseana 3 slaai Jsmana juslial Width USD
| eddsde s 0% MGMN150 CBN1 1.5 | 6.9
EBLES
Haterals MGNN200 CBN1 2.0 | 6.9 MRN200-G ZP30 RI.O | 1.6
MGNMN250 CBN1 2.5 | 6.9 MRMN200-M ZP30 R1.O | 1.6
MGNMN300 CBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 - -M MRMN400-M ZP30 R2.0 | 2.0
MGMN500 CBN1 50 | 6.9 3 &bk Graoving
pswiasll 5 o il gh Dol G5
il o pats s MGMN150 PCD1 1.5 | 6.9 ot a5 o
: MGMN200 PCD1 2.0 | 6.9 Materials sl 4 313 oUls
MGMN250 PCD1 2.5 | 6.9 =
MGMN300 PCD1 3.0 169 MRMN40O CBN1 R2.0 | 6.9
MGMN40O PCD1 4.0 | 6.9
g B
( || MGGN300 ZP15 3.0 | 1.6 MGEHR1010-1.5 15 |90
?\I/ MGGN400 ZP15 4.0 | 1.7 MGEHR1010—2 20 |90
IR e MGEHR1212-1. 5 1.5 | 9.0
o/ o o MGEHR1212-2 2.0 | 9.0
Y MGEHR1212-3 3.0 | 9.0
( || MGGN200-Q ZP15 2.0 | 1.7 MGEHR1616-1. 5 1.5 | 6.7
’\I | MGGN300-Q ZP15 3.0 | 1.7 MGEHR1616-2 2.0 | 6.7
8° Taper MGEHR1616-2. 5 2.5 | 6.7
i Sl MGEHR1616-3 3.0 | 6.7
) S MGEHR1616~4 4.0 | 67
‘e /| MGGN200 ZKOf 2.0 | 1.7 MGEHR2020-1. 5 1.5 | 6.7
: \ /| MGGN300 ZKO1 3.0 | 1.9 MGEHR2020~2 2.0 | 6.7
Cnppmmmim\m | MeGN400 ZKO1 4.0 | 2.3 MGEHR2020-2. 5 2.5 | 6.7
2 ot 7 oy 5 518 MGEHR2020-3 3.0 | 6.7
e MGEHR2020-4 4.0 | 6.7
MGGN150 ZP30 1.5 1.7 MGEHR2020-5 50 6.7
o [ 2.0 | 1.7 MGEHR2020-6 6.0 | 8.3
“‘ “‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\\ /9 MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
MGGN400 ZP30 4.0 2.0 MGEHR2525-2. 5 2.5 9.0
i £ od Uk 31 MGGNS00 ZP30 5.0 | 2.7 MGEHR2525-3 3.0 | 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e O
— MGGN200R-8 ZP30 2.0 | 1.7 \ -
" MGEHR2525-6 6.0 | 10.7
, ‘e || MGGN250R-8 ZP30 2.5 | 1.9 e 50 | 164
: J /| MGGN30OR-8 ZP30 3.0 | 2.0 WY 50 | 104
8° Taper i~ | MGGNAOOR-8 ZP30 4.0 | 2.4 - :
s MGGN500R-8 ZP30 50 | 3.1 Lo i MGEHRS232-4 4.0 | 1674
i sl ' : D3k JLES/Cut-Off MGEHR3232-5 5.0 | 16.4
MGEHR3232-6 6.0 | 17.9
o~ e ol St 2V 8 MGEHR1010-1.5T12 | 1.5 | 10.7
7B | MeGN250L-8 ZP30 55 | 19 MGEHR1010~2T12 2.0 | 10.7
{ | | . .
\ N s 30 | 2@ MGEHR1212-1. 5T12 1.5 | 9.6
8° Taper\ / MGGN400L-8 ZP30 4.0 2.4 MGEHR1212-2T12 2.0 9.6
G ol ' : MGEHR1616-1. 5T13 1.5 | 9.0
i MGEHR1616-2T16 2.0 | 9.0
MGEHR1616-2. 5T18 2.5 | 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 1.7 MGEHR1616-3T20 3.0 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
. MGMN400-M ZKO1 4.0 2.0 MGEHR2020-2T16 2.0 9.6
ooeslTl e MGEHR2020~3T20 3.0 | 9.6
b vaila MGEHR2020~4T20 4.0 | 9.6
. MGEHR2525-3T20 3.0 | 11.0
MGNN200-G ZN6O 20 | 1.4 et MGEHR2525-4T20 4.0 | 11.0
MGMN300-M ZN60 3.0 1.7
MGMN40O-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 | 9.0
N MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 | 9.0
o S EARS MGEHL1212-1.5 1.5 | 9.0
et O 633 S MGEHL1212-2 2.0 | 9.0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1. 5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 MGEHL1616-2. 5 2.5 6.7
MGEHL1616-3 3.0 | 6.7
Heawa T MGMN300-H ZP30 3.0 | 1.6 MGEHL1616-4 4.0 | 6.7
ot £ b b3l MGEHL2020-1. 5 1.5 | 6.7
MGEHL2020~2 20 | 6.7
MGMN200-G ZP20 2.0 | 1.6 MGEHL2020-2. 5 2.5 | 6.7
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
MGMN250-M ZP20 2.5 | 1.6 MGEHL2020-4 4.0 | 6.7
MGMN300-M ZP20 3.0 | 1.6 MGEHL2020-5 50 | 6.7
PR MGMN400-M ZP20 4.0 | 2.0 MGEHL2525-2 2.0 | 9.0
IG5t s MGEHL2525-2. 5 2.5 | 9.0
MGMN150-G ZP30 1.5 | 1.6 e 3.0 1 9.0
MGMN200-M ZP30 20 | 1.6 Al Lise 40 1 9.0
MGMN200-G ZP30 20 | 1.6 MGEHL 2525-5 50 1 9.0
MGMN250-M ZP30 2.5 | 1.6 ALz zo=0 6.0 10.7
MGMN250-G ZP30 25 | 1.6 A Loz 3.0 | 16.4
MGMN300-M ZP30 3.0 | 1.6 MGEH 32304 4.0 | 16.4
e o MGMN400-M ZP30 40 | 2.0 MGEHL 32325 5.0 | 16.4
5;2;;':‘?;;4{-’5 MGMN500-M ZP30 50 27 il (RES/Cut-Off MGEHL3232-6 6.0 17.9

Cogd 4dn 8 9 Gllle (Jii 5 Jaa Jald 3L Caand,

O Y Bl Y A S bk Gl

s Jaea) k] (s 438 pisils @5 o eVa@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

ut.a\.l t\J}.u / d); IPTEN LgJLS\.ﬁ:\JJ J\J’.}\
End Face/lnner Hole Grooving Turning Tool

Width USD Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 |19.0 [EBL SR MGIVR3732-6 6.0 26.1
MGHH420R-160/400 4.0 |19.0 oia alaséa
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 Les Y 58
MGHH425R-100/140 4.0 |28.6 o
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
s ol olSaadlk
Sose gledl s Hais MG1VR2520-3T8 3.0 15. 4
Oles Y5 MG | VR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
L MGHH320R18-160/400 3.0 21.9 e
N MGHH325R18-160/400 | 3.0 | 23.9 ol
MGHH420R15-30/50 4.0 21.9 ois Al jia
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGIVL2016-2 20 193
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
, MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
el g lSandla MGIVL2520-1.5 1.5 11.0
g (gledi) yy andS MGIVL2520-2 2.0 11.0
s 2 58 MGIVL2520-2. 5 2.5 | 11.0
MGIVL2520-3 3.0 11.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 o Lol MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 SO MG VL3732-4 4.0 | 261
MFH425R08-25/140 4.0 24. 6 S MGIVL3732-5 5.0 26.1
MFH425R10-25/140 4.0 24. 6
shenla ol
G gea sledil Ha HaES
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
il (RS
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
Jdﬂg..& ui..ls

Caad 43 58 9 Gllla (i3 5 Jaa Jald 5L Caagd,

O KGal Yo Al O3lalas Cagd,

i yiy Jpeal Bl s 08 i &y sem 2 @VA@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

i 3 )12 CNC

CNC Turning Tool

Jsamaa jaglaas Jsmna 3 glaad

5.4
5.3
5.4
6.0
8.3
3232P 14.7 KTGFRIL..
4040R 21.9 ZQ.. L3 Cutting-Turning =8 ouli ), 13 Turning Grooving S @ili )
1616H 6.7 SPB226, 11.9 KTGFRI/L.. 1010 11.9
2020K 6.7 SP.. SPB326 11.9 01 Turning Grooving =€ =514 1212 11.9
2525M 8.6 \ SPB426 11.9 1616 11.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332 14.3 — 2525 15.4
SPB432| 14.3 _
SPB.. I Cutting-Turning S s | Dlgz 2V 58
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 o= 2525 | 22.6 1616 7.1
3232P | 16.4 \ 3232 | 297 L 2020 7.1
4040R 32.4 2525 9.3
KTGFSRIL..
W 23 s | s ailis (53 a5l )34 Turning Grooving 28 s | |
1616H 9.3 MGEHR/L.. 258 i) 3 S olid 1010 7.1 1616 6.7
2020K 9.3 1852 D150 03la e 1212 7.1 2020 6.7
B 2525M 1.0 1616 6.4 y ; ﬂ 2525 8.9
3232P 14.6 2020 6.4
4040R 36.0 MGMN.. e 2525 8.9
3232 16.4 SGBRI/L..
D 258 Guli ) syl (B3 a Sl 0133 Turning Grooving =8 culs |
S 38 il 1) ) sm sl s Jla L3 SO06K 5.4 MGEHRI/L.. S culi 1) o2 S cki | 1010 9.6 1616 9.0
SO07K 4.6 15552 L) ol e 1212 9.6 2020 9.0
2 S08K 4.6 1616 8.9 2525 11.9
=5  S10K 4.6 MGMN.. 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 . SGBSRI/L..
S16Q 5.7 Sles Y5 5139 Turning Grooving 28 quls |
$180 6.4 1616 | 8.6
S20R | 6.4 2020 | 8.6 ;8;8 19é ¥
$25S8 9.7 2525 1.0 '
S32T | 14.6 2525 | 16.4
S40U 25 4 MG 3232 21.9
MGEVRI/L.. CGBRI/L..
) 3) Turning Grooving 258 <dla | 0122 Turning Grooving 23S s |
S 258 i 1) &) ysm il g s i3 S07 5.4 Dlgn AV 58 16 9.3 1616 11.9
S08 5.4 20 11.0 2020 14.3
S10 5.4 25 13.1 2525 17.9
S12 6.9 32 25.7
s16 8.6 4 | 543
Les aY 4 520 9.7 MGIVR/L.. Type Inner Hole e 258 CG'BSR/L.. ) B
O AT g3 a5l aila s 20 15.4 ) 32) Turning Grooving 23S <l )
H s€ ol 1 #1550 L2l s tia 15 S06 14.6 CGWSRIL.. w8 oali ), 0asS ki | 1616H 9.6 QE..R/L.. 38 Qi) 02 ol 1616H | 9.3
) S07 14. 6 =S NSIBHIGE EEY 2020K 10.7 [5252 L1 oala e 2020K 11.0
S08 14.6 2525M 12. 6
$10 | 16.4 3232P | 20.0
S12 18.1 WGE. Zr.
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRIL. X i 1, 028 oBd 1616 | 15.3
S20 43.6 2020 10.3 JUEA D ) el pasla 2020 16.9
S25 65.0 GY2M.. 2525 11.9 ) < 2525 | 20.4
DGN.
YU e e L 2V /(iYAIjAR/JL()\:JS:)\A 15 0aS ekt .
C a8 i 1, gl Sala s lia 15y CO4G 19.0 KGMRI/L.. 358 s 1) a8 ok 1010 10.3 FGHH..R/L. . 1616 28.6
C05G 19.0 18252 10 > 1212 10.3 [ 2020 28.6
C06J 19.0 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
CO8K | 22.6 GMN.. 2525 12.9 EMNL s s
C10K 26. 1 GMG.. 3232 20.0 T LLFaCe i ol
C12M 33.3 i Sl
C14N 52.4 TTER/L.. 258 i | 028 8 1010 10. 3 1616 35.7
c16a | 69.0 JSA s )3l Gaila 1212 10. 3 2020 | 381
c18Q | 81.0 ‘ 1616 9.3 2525 | 42.9
C20R 95.3 2020 11.0
€258 204.7 2525 12.9
e 2,18 C32T 452. 4 3232 20.0 B FaCe
S Sila
S16Q 8.3 TTIR/L.. Type Inner Hole 16 14.3 - 1616 23.9
S20R 8.6 A a Dl Sl il g 20 16.7 y 2020 | 21.9
ggg? }é 2 25 19.0 o= 2525 | 23.9
S40T/U | 28.9 ROMN. %
S50V 72.1 L
S.M 28 Qi) s R 6 lis )3 Olgs Y 58 er:iiu.e..u

Cond 4dg 38 5 Gllle (Jid 5 Jaa Jalid 53V ol

STENSERCEETREY Kp EN RGN DY DRIV
s sy Jaad k) s 458 s il om0 @VA@@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

6\l 3 calakd CNC

CNC Turning Tool Parts

J;A-ﬂ )ﬁ)tmi Size USD
MC0903 | 0.4 HL1810 0.4
MC1204 | 0.6 HL1814 0.4
MC1604 | 1.1 HL1917 0.4
- MC1904 | 1.6 HL2114 0.4
ey w2217 | 04
o y HL221755| 1.0
CoiS ld 1) HL2414 | 0.4
" MD1103 | 0.4 Mg oS B ML520 0.3
. : MD1504 | 1.0 ML620 0.3
; MD1506 A ML625 0.3
ML630 0.3
ML830 0.8
D-3ai LTHLS Iy H...'E
MS0903 | 0.6 w-eoS g s WT16 0.4
s MS1204 | 0.6 wwos 0.4
F MS1504 | 1.1
g MS1904 | 1.6
SRR TILY LTIﬂu Iy ?,l‘.&
MT1603 | 0.3 gHoSE s WC0525E | 0.4
MT1604 | 1.1 WC0625E | 0.4
<« WT2204 | 1 1
T—_‘Iﬁjs L;:T;\S ) B) ?gll
W1603 | 0.6 D-sd g s DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DWO8 1.0
‘ MW0603 | 0.4 D-g oS g 55 DL525 0.7
- MW0804 | 0.6 . DL625 0.7
W—J{}S 471_12_? }) (’ﬂ':;
iR | 03 DDC12 0.5
ey ‘g STMI6L | 0.3 DDD15 0.5
- - STM22R | 1.0 DDT16 0.5
STM22L | 1.0 DDV16 0.5
R L DDWO8 0.5
STM-238 il |y ani D-3138 i 1) and screw
CTM510 0.2 Sl i rse g s | LIS 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T | 0.2 L5.0 0.3
o™ [CTMOTBW | 0.2
- CTM0822 0.3 T2 58 iie,Re s |TLI.5 1.0
£ CTMO822 75| 0.7 el a gl | 0
N CTM1022 0.3 TL2.5 1.0
CTM1022":5| 0.7 TL3.0 1.0
- TL4.0 1.0
T/W TL5.0 1.0
GOS0 O En 4
M2. 0X5 0.1 p ol SUUSE o Jlal 16 0.2
M2. 2X5 0.1 17 0.2
M2. 5X5 0.1 T8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 720 0.2
M3.5X10 | 0.1
M3. 5X12 0.1 20 5ST S ey Slald T6 0.8
M4 0X8 | O 1 e R 7 o8
M4.0X10 | 0.1 18 0.8
M4. 5X12 0.1 T10 0.8
M5.0X10 | 0.1 T15 0.8
M5.0X12 | 0.1 720 0.8
23 a1 5ST e g el TT6 1.0
17 1.0
T8 1.0
TT10 1.0
TT15 1.0
, s TT20 1.0
D) w48 b Sl

Gl 439 38 Glalla (Jad 5 Jea Jald YL Cagd,

O o WG al Y JJals Olelas e, 2 O
s iy gl Bl s 435 a3l & 5em 0 @VA@MZGtool.cn http://www.mzg.tw



http://www.mzg.tw

<881 Gl 3l iy oK

Machine-Clamped Right-Angle Milling Cutter

e Olaly i Gl Glasa g 65 Jad Dl ans) ) Gl Gl y GE a8 GE e )
Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder

APKT113502 02 | 69 s X
APKT113504 CBN1 0.4 6.9 XM T
APKT113508 CBN1 0.8 6.9 o o
usD
M BAP300R C10-10-120-1T 3.3
APKT160402 CBN1 0.2 6.9 BAP300R C10-11-120-1T 3.3
APKT160404 CBN1 0.4 6.9 S ¥ BAP300R C12-12-130-1T 3.3
o APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g}i—}i—lgg—g i-g
A oela glaby 14— = _
U ol =R 237 BAP30OR C14-14-150-2T | 4.6
BAP3-13-1T-M6 23.9 e
B S 53  BAP30OR (15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 . BAP300R C15-15-200-2T 5.4
APKT113504 PCD1 0.4 6.9  BAP3-16-2T-M8 28.6 BAP30OR C15-16-150-2T 4.6
% 0213 Gl APKT113508 PCD1 0.8 | 6.9  BAPS-17-2T-M8 28.6 BAP30OR C15-16-200-2T 54
o TON) BAP3-20-2T-M10 310 BAP30OR C15. 6-16-150-2T | 4.6
T E g g 1-0° BAP30OR C15. 6-16-200-2T | 5.4
i E 2oy TyltiZ 333 BAP30OR C16-16-120-2T | 4.6
; APKT160402 PCD1 0.2 6.9  BAP3-25-4T-M12 357 BAP30OR C16-16-150-2T 4.6
APKT160404 PCD1 0.4 | 6.9  BAP3-26-2T-M12 332 BAP30OR C16-16-200-2T | 5.4
— APKT160408 PCD1 0.8 | 6.9 gﬁgg‘gg‘ﬂ‘m% 323 BAP300R C16-16-250-2T 9.6
__‘J:_‘_')Lﬁ'\ﬂ —26—4T— . e .
A Abd-25 T M1 o EEE e,
BAP4-26-2T-M12 33.3 BAP30OR C16-17-200-2T 5 4
BAP4-30-2T-M16 38.1 :
APKT1135PDER-AL ZKO1 | 0.8 1.4 = BAP300R C16-17-250-2T 9.6
BAP4-30-3T-M16 404 BAP300R C16-18-150-2T 5.4
BAP4-32-2T-M16 38.1 :
APKT1604PDER-G2 ZKO1 | 0.8 1.9 = BAP300R C16-18-200-2T 6.1
A BAP4-32-3T-M16 40. 4 -
i 42 0213 b e )  BAP30OR C19-20-150-2T 5.4
el e : BAP300R C19-20-200-2T 6.1
BAP Sl 4513 3V 5 Pz BAP300R C20-20-120-2T 5. 4
; B e et Angls BAP300R C20-20-150-2T 5.4
6 1604— 1 0.2 19 End Milling Cutter BAP300R C20-20-200-2T 6.1
- APKT1604-AL ZKO : : BAP300R G20-20-250-2T 9.6
BAP300R C20-21-120-2T 5.4
2 DJ‘;D@“- BAP300R €20-21-150-2T 5.4
el g e BAP300R C20-21-200-2T 6.1
| BAP300R C20-21-250-2T 9.6
' APMT1135-TG ZN60O 0.8 1.4 BAP300R (24-25-150-3T 10.3
BAP300R (24-25-200-3T 11.9
APMT1604-TG ZN60 0.8 1.9 BAP300R (24-25-250-3T 14.3
i g ot el BAP30OR (24-25-300-3T 20.4
e o BAP300R (25-25-150-3T 10.3
BAP300R (25-25-200-3T 1.9
BAP300R (25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 BAP300R (25-25-300-3T 20. 4
BAP300R 40-22-4T 11 9  BAP30OR 25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP300R 50-22-4T 153  BAP300R (25-25-200-2T 8.9
BAP300R 63-22-6T 20. 4 BAP300R ($25-25-250-2T 1.9
BAP400R 40-22-3T 10.3 BAP300R (25-25-300-2T 19.0
BAP40OR 50-22-4T 10. 3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 BAP400R C24-25-150-2T 7.9
BAP400R 80-27-6T 20.4 BAP400R (C24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 0.8 1.9 BAP400R 100-32-6T 32.4 BAP400R C24-25-250-2T 11.9
) B ) BAP4OOR 125-40-7T 51 0  BAP40OR C24-25-300-2T 19.0
O Ja gie g gl BAP400R 160-40-8T 61.1 BAP400R C25-25-150-2T 7.9
ston gl o b Eneaesl)
o BAP400R 250-40-12T 187. 1 ~25-250~ .
; ” 5 APMT1135PDER-XM ZP25 | 0.8 1.1 BAPAOOR 300-60—14T S 1 BQEZ{SSE ggg_gg_?gg_g 179_90
o BAP40OR 50-25. 4-4T 11.9 -26-150- .
: APMT1604PDER-XM ZP25 | 0.8 1.9 i e I 3252‘885 ggg_gg_ggg_g 191_%
- BAP400R 80-25. 4-6T 23.9 -26-250~ :
reget 2lse o2 SR BAP40OR 100-31. 75-6T 35.7 gﬁgjggg g%g-%g—?gg-g 1‘(?) g
e APMT1135PDER ZM90 0.8 2.0 ::t';ﬁi?”u ‘L'“‘; ‘5;’: “l’L"E jJMT“‘“C’“ BAP400R C25-30-200-2T 1.9
-| uminum Right-Angle En illing Cutter
BAP400R (25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP40OR (25-30-300-2T 20. 4
BAP400R C32-32-150-3T 13.6
GV it Gijlagy HRC B2 4550 BAP400R (32-32-200-3T 15.3
BAP400R C32-32-250-3T 18.9
; . ] APMT1135PDER ZP20 0.8 1.6 BAP400R C32-32-300-3T 23.9
- ; { BAP400R (32-32-350-3T 27.1
S APMT1604PDER ZP20 0.8 2.3 BAP400R C32-32-400-3T 35.7
— - BAPAOOR C32-35-150-3T | 136
n e 3lae 5 8518 BAP400R C3§—35—%00—3T 15.3
T BAP400R C32-35-250-3T 19.7
“;:j?“ BAP400R €32-35-300-3T 23.9
APMT1135PDER ZP30 0.8 1.6 BAP400R C32-35-350-3T 271
AL-BAP400R 50-22-4T 16,9 BAP400R €32-35-400-3T 35.7
ol APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
msas 3l ga o 8 5la AL-BAP400R 80-22-6T 30.7 BAP400R C32-40-200-3T 17. 6
- AL-BAP400R 100-22-6T 546 BAP40OR C32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 95.3 BAP400R C32-40-350-3T 30.7
— APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0 BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 221
e lge ol 31 AL-BAP400R 300-32-14T 340. 3 BAP400R C32-50-200-4T 27.1

Cound 43y 38 5 Gllle (Jis 5 Jaa Jalid 53V ol

STENS RS KPR EN KRG DY DRIV
i iy gl Bl ) g 438 s il &y 5em 0 @VA@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

JOU Gin (Bm G o8

Machine-Clamped Round Nose Milling Cutter

J}.A;A Jﬂjlmi

RDMW1204MOT-PM ZP30 R6 1.7
RDMW1605MOT-PM ZP30 R8 2.4

osae 3 ga 3 Gh 1A
ii Ii RPGT1003-AL ZKO1 RS 1.9

Lo gie 437030 Ly
asaina sl o s
n RPMW1003MO ZN60 RS 1.6
RPMW1003 ZN60non chamfering| RS 1.3
v RPMT1204MO0 ZN60 R6 1.9
G aY s g Jaws gia Sl

23} eam ) Gl 4 ciladad
RPMTO8T2-JS ZP25 R4 1.1
RPMT10T3-JS ZP25 RS 1.4

o sae A ga )3 A1 5
o\. RPMT1204MO0 ZM90 R6 2.0

43 Y A3 (512 ) HRC 62 42 P

@ RPMT1204MO0 ZP30 R6 1.7

2 sae A ga )3 A1
a\ ) RPMT1204M0 ZP60 R6 | 1.7

sosae A ga )3 A1
: ” : RPMT1204-XM ZP25 R6 | 1.3

sasos 3 ga y3 A1 g
° RPMW1003MO ZM90 RS 1.7

43 Y B3 (5512 ) HRC 62 4 P

' . RPMW1003MO ZP20 RS 1.3

osae A ga )3 Gh )l
RPMW1003MO ZP30 RS 1.3

2 sas A ga 3 a1
\ ” RPMW1003MO ZP60 R5 1.3

oo sac A a3 (BN 5
RPMW1003-XM ZP25 RS 1.3

o sae 3l g Ha A1

ot a3y 38 5 bl (i3 5 Jua Juld 5V Chend,

O 00 o wl Y LAY OBllas ol

(1233 & 53 J48 Round Cutting Mill End Cut End
Locking Tooth Type Round Nose End Milling Cutter

i Olly GAe 508 Gin 15
Discarded Round Nose End Milling Cutter Toolholder

EMRR4-16-2T-M8
EMRR4-17-2T-M8
EMRR4-20-2T-M10
EMRR4-21-2T-M10
EMRR4-25-2T-M12
EMRR4-26-2T-M12
EMRR4-25-3T-M12
EMRR4-26-3T-M12
EMRR5-20-2T-M10
EMRR5-21-2T-M10
EMRR5-25-2T-M12
EMRR5-26-2T-M12
EMRR5-30-2T-M16
EMRR5-32-2T-M16
EMRWR5—-30-3T-M12
EMRWR5-32-3T-M16
EMRWR5-35-3T-M16
EMRWR6-25-2T-M12
EMRWR6—-26-2T-M12
EMRWR6-30-2T-M16
EMRWR6—-32-2T-M16
EMRWR6—-35-3T-M16

V= WWORNRPMA—_,_,LWOWOONNLWWOOOO
m
=
=)

DxDxLxT

G10-4R10-120-1T
G12-4R12-130-1T
G12-4R13-130-1T
G16-4R16-150-2T
G16-4R16-200-2T
G16-4R17-150-2T
G16-4R17-200-2T
G19-4R20-150-2T
G19-4R20-200-2T
G20-4R20-150-2T
G20-4R20-200-2T
G20-4R20-250-2T
G20-4R21-150-2T
G20-4R21-200-2T
G19-5R20-150-2T
G19-5R20-200-2T
G20-5R20-150-2T
G20-5R20-200-2T
G20-5R20-250-2T
G20-5R21-150-2T
G20-5R21-200-2T
G20-5R21-250-2T
G20-5R25-150-2T
G20-5R25-200-2T
G20-5R25-250-2T
G20-5R30-110-2T
G24-5R25-150-2T
G24-5R25-200-2T
G24-5R25-250-2T
G24-5R25-300-2T
G25-5R25-150-2T
G25-5R25-200-2T
G25-5R25-250-2T
G25-5R25-300-2T

EMR Steel Round Nose jjéﬁ O"él-q‘
EMR Steel Round Nose End Milling Cutter

EMR
EMR
EMR
EMR
EMR
EMR
EMR
EMR

5R50-22-4T
5R63-22-4T
5R80-27-6T
5R100-32-6T
5R125-40-7T
5R160-40-8T
5R50-25. 4-4T
5R63-25. 4-4T
EMR 5R80-25. 4-6T
EMR 5R100-31. 75-6T
EMRW 6R50-22-4T
EMRW 6R63-22-4T
EMRW 6R80-27-6T
EMRW 6R100-32-6T
EMRW 6R125-40-7T
EMRW 6R160-40-8T
EMR 6R200-40-10T
EMR 6R250-40-12T
EMR 6R300-60-14T
EMRW 6R50-25. 4-4T
EMRW 6R63-25. 4-4T
EMRW 6R80-25. 4-6T
EMRW 6R100-31. 75-6T

G25-5R26-150-2T
G25-5R26-200-2T
G25-5R26-250-2T
G25-5R26-300-2T
G25-5R30-150-2T
G25-5R30-200-2T
G25-5R30-250-2T
G25-5R30-300-2T
(32-5R35-150-3T
(32-5R35-200-3T
(32-5R35-250-3T
(32-5R35-300-3T
(32-5R35-350-3T
(32-5R35-400-3T
(32-5R40-150-3T
(32-5R40-200-3T
(32-5R40-250-3T
(32-5R40-300-3T
(32-5R40-350-3T
(32-5R40-400-3T
(32-5R50-150-4T
(32-5R50-200-4T
(25-5R25-150-2T
(25-5R25-200-2T

The Above <laiis Are RP.. Inserts,
RC ../ RD .. 358 s 5 (g Wkl catinn 5 2 2l

The Above laaidia Are RP.. Inserts,

RC.. /RD.. Inserts and handle, please inquire!

i i Jaenl) LD M g 438 8 (5818 & e eva@ngtool,cn

103 EMRW C25-5R25-250-2T
11 9 EMRW G25-5R30-150-2T
20 4 EMRW G25-5R30-200-2T
5, 4 EMRW C25-5R30-250-2T
o EMRW C32-5R35-150-3T
51.0° EMRW ¢32-5R35-200-3T
611 EMRW €32-5R35-250-3T
11.9  EMRW C32-5R35-300-3T
15.3  EMRW C25-6R32-150-2T
23.9  EMRW C25-6R32-200-2T
35 7  EMRW C25-6R32-250-2T
10,3 EMRW G25-6R32-300-2T
110 EMRW C32-6R32-150-2T
50 4 EMRW C32-6R32-200-2T
51.0° EMRW €32-6R32-350-2T
61.1  EMRW C32-6R32-400-2T
119.0  EMRW C32-6R35-150-2T
187.1  EMRW C32-6R35-200-2T
238 1  EMRW C32-6R35-250-2T
119  EMRW 032-6R35-300-2T
155  EMRW C32-6R32-350-2T
' EMRW C32-6R32-400-2T
53- 7 EMRW C32-6R40-150-3T
S/ ENMRW C32-6R40-200-3T
EMRW C32-6R40-250-3T

EMRW C32-6R40-300-3T

EMRW C32-6R40-350-3T

EMRW C32-6R40-400-3T

EMRW C32-6R50-150-4T

032-6R50-200-4T

ONINOINONOOO IO OIWWW

[N 2 .
woNNI

[N
VwoN

o~

OGN
Wow=owow

L, 0O,V OR O R OWN—VOWOrROVOWVWOrOVOWWTP L O OR VWOV OVOWROROWORrT PPV OTVOV GOV }GR DGR R 202 G002 —2O0_0WwWww

http://www.mzg.tw

N
N



http://www.mzg.tw

e Ui n Opile

Machine-Clamped Milling Cutter

gl 4 gala gl
3 ot Al o P3200-R4 ZP10 7.4
e EEn Alpa g P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A
{ P3200-R6 ZP10 8.3
g ’ SEHT1204AFFN CBN1 | 7.1 P3200-R8 ZP10 9.9
P3200-R10 ZP10 1.9
Al - S |P3200-R12.5 ZP10 20.3
p 43 0302 Ol Cid G bt p390a. peE’ 7p10 311 PNMUO9OSGNEN-MJ 800-08T308M-C-6
H o saizasll 5 (e == 2l | P3200-R16 ZP10 40.3
Cutting Below HRC55
SEHT1204AFFN PCD1| 7.1 ZPFG100 ZM55 171
ZPFG120 ZM55 17.1 PNMUO905XNER-GM 800-08T308M-1-G
i WY ZPFG160 ZM55 20.4
- sigin A GRS Gl ZPFG200 ZM55 23.9
b asina sl 5 (e ZPFG250 ZM55 32.4
ZPFG300 ZM55 51.4
| | SEHT1204AFFN ZKO1| 1.7 Cutting Below HRC55 SNMU130508EN-GM 800-09T308H-P-G
BNM120 ZM55 17.1
BNM160 ZM55 18.6
o AR, G BNM200 ZM55 23.9
Sl o S5l BNM250 ZM55 32.4 WNMUOS0608EN-SM R390-11T308-PM
a gac 3 5a BNM300_ZM55 41.0
§ECA1204AFTN ZP30| 3.1

3PKT100408R-M
3PKT150508R-M
3PKT190608R-M

Sl 0Ll 508 Olaia g 55 Jis

Locking Tooth Type Spherical End Milling Cutter SCMTO9T308-MM

2y Olly 4 ol
Of (o 5ae 3l 54 3.1

|| SEHT1204AFSN ZM90

XJMG1204 S-R215. 44-15T364M

) OLL 4 A LEL

3 1 HNGX0906-FF

DGN3102C
of (5232 3 5w

SEKT1204AFTN ZM90

T2139M-5R-M5

WNMX060312ZNN-MM GRIP3003Y

T2139M-6R-M6 31.0 WNMXO9T316ZNN-MM GR1P4004Y
=
. —~10R- 5.7
V8 Sl o) 5S KMas T2139M-12. 5R-M12 381
T2139M-15R-M16 40. 4 6NGUOG0408R—M LNKX1506-G

KM Steel 45° Face Milling Cutter
’ 6NGU090508R-M

Toolholder <) 433ly Ll (5 5 S Kl Glaud

_ _—~—
Discarded Spherical End Milling Toolholder @ CNHX100508T "‘- WXCU080612T
D {- - f}d CNHX131108T ,
[ [
L 9 LNKX1005-Y
" v AXMT060208R—EM LNKX1206-Y
Glaiia @ E. LNKT1507
dxDxLxT
12139 C10-4R-100-1T 8.9 é
12139 C12-4R-130-1T 8.9 BLMPO603R-M - $229.0300. 32
12139 C16-4R-150-1T 10.7 e
12139 G10-5R-120-1T 8.9
DxdxT 12139 C12-5R-150-1T 8.9
12139 C16-5R-150-1T 10.7 BLMPO904R-HL SOEX090408-13
KM12-50-22-4T : 12139 C12-6R-130-1T 8.9
KM12-63-22-4T 15.3 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25.4 %1%3 g}g—gs—;gg—ﬂ 1c2>. 7 Y
KM12-100-32-5T 35.7 —6R—200~ 12.6
KM12-125-40-6T 51.0 ¥§}gg g]g_gs_%gg_l¥ 1(1) 8 1 BLMP1205R-M ° HNPJ130720ANSN-HD
KM12-160-40-6T 61.1 ~8R-200~ <
KM12-200-40-8T 136.0 12139 G20-8R-200-1T 16.7 -
KM 2-250-40-10T 204 0 12139 C25-8R-250-1T 19.7 &
KM12 300-60—12T 955 0 12139 C20-10R-150-1T 13.9 BLMP1306R-M SP1RH5-LT-L
: 12139 G20-10R-200-1T 16.0
KM12-50-25. 4-4T 136 72139 ¢25-10R-250-1T 19.7
~80-25. 4~ . T 5-12. 5R-150-1T 16.7 e
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
— 12139 C25-12. 5R-250-1T 22.1
£0 Jaal e oS Tg}gg g%g—g 5R—13388—}T 25.0
. T -12. 5R-300-1T 27.9 [
KM Aluminum 45 FaceDM\ng Cutter 12139 632-15R-150-1T 18 3 lu ZNHU080-08 - APNT1003-NN
12139 C32-15R-200-1T 21.0 Q@
. 12139 €32-15R-250-1T 23.9 —
12139 €32-15R-300-1T 26.7 { g™}, 3
12139 €32-15R-350-1T 30.4 § 8 SNMX1205XTN 1 W SEKN1203AFTN-NN
12139 C32-16R-150-1T 18.3
12139 C32-16R-200-1T 21.0
12139 €32-16R-250-1T 23.9 o
12139 C32-16R-300-1T 26.7 ‘
12139 C32-16R-350-1T 30.4 i ggmgggggﬂ; SEKR1203AFTN-NN
Insert:ZPFG.. ].—‘ - -
s T - (e
¢16-8R-200 29.7 g SoTosTS06-0P
ok Y
025-12. 5R-150 39.7
625-12. 5R—200 496
DxdxT et 8%31%5?3550 22:‘7‘ Q AXMT123508PEERG u APKT150412-PM
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1  ABPF G32-15R-250 596
AL-KM12-80-22-5T 30.7 _ ABPF €32-15R-300 79.3
AL-KM12-100-22-5T 54. 6 Insert:BNM.. {1 RPHX1204M6EN-M31 SPMT120408-PM
AL-KM12-125-27-6T 85.0 EWE gg—gs—gg—ﬂ Hg 4
AR oo eT i BNML C16-8R-150-1T 15.0
AL-KM12-250-32-10T 2721  BNML C16-8R-200-1T 17.9 XNEX080608-HD15 ONHUO60408PH
. BNML C20-10R-150-1T 21.0 ONHUO8T508-PM
AL-KM12300-32-12T 340.3° BNML G20-10R-200-1T 23.9
Qt—mg-gg-gg- f{-ﬂ ;g? BNML C25-10R-250—1T 29.7
~KM12-63-25. 4~ : BNML C25-12. 5R—150-1T 25.0
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 u ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6  BNML G25-12.5R-250-1T 33.3

Giugd a3y 38 5 Gllle (Jid 5 Jea Jald WL Gl

O 0 el Y Al Ollalase e,

Sy Jaegl Lkl (s 4358 a pisils &5 2 eVA@@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

434 & tj_'a C)J

Insert Type Quick Drill

Ol Olaly Ghow Gl laia g 58 Jid
Locking Tooth Type Right-Angle End Milling Cutter

M

Gliad
DxTxM

4<;\\¥// Insert: R390-11T3..
IIIIIIIIIIIIIIiiIIIIIIIIIIIIIIIIII

R39011-16-2T-M8 28.6
R39011-17-2T-M8 28.6
R39011-20-2T-M10 31.0
R39011-21-2T-M10 31.0
R39011-25-2T-M12 33.3
R39011-26-2T-M12 33.3
R39011-30-2T-M16 35.7
R39011-32-2T-M16 35.7
R39011-33-2T-M16 35.7
R39011-35-2T-M16 42.9

Ol Glaly 508 Glade & Jas

Locking Tooth Type Spherical End Milling Cutter

BNM-10-R5-M5
BNM-12-R6-M6
BNM-16-R8-M8
BNM-20-R10-M10
BNM-25-R12. 5-M12

J}mA.A Jasbal

.

S olia G ks

WCMX030208
WCMX040208
WCMX050308
WCMX06T308
WCMX080412

ZP25
P25
ZP25
ZP25
ZP25

~oeoe

sapas dlga

S olea ik
L al

35.7 e

WCMX030208
WCMX040208
WCMX050308
WCMX06T308
WCMX080412

ZP30
ZP30
ZP30
ZP30
ZP30

~oocoe

WNNNN | N ===

Dl laa ginjla gy

asac 3l sa

SPMG050204
SPMG060204
SPMGO7T308
SPMG090408
SPMG110408

ZP25
ZP25
P25
ZP25
ZP25

WONDA [ NOODPDRWW | OOONDMD

e olaly i Gl laia g 58 Jad
Locking Tooth Type Right-Angle End Milling Cutter

Insert: JDMT0702..

JDMTO7-11-2T-M5 35.7
JDMTO7-12-2T-M5 35.7
JDMTO7-12-2T-M6 35.7
JDMTO7-13-2T-M6 35.7
JDMTO7-14-2T-M6 35.7
JDMTO7-16-3T-M8 42.9
JDMTO7-17-3T-M8 42.9

Ol Olaly a2 g 58 Jid
Locking Tooth Type Right-Angle End Milling Cutter

M

AXMT06-11-2T-M5

AXMTO06-12-2T-M5 35.7
AXMT06-12-2T-M6 35.7
AXMT06-13-2T-M6 35.7
AXMTO06-16-3T-M8 42.9
AXMT06-17-3T-M8 42.9

Insert: AXMTO0602..

Dhae Oy e pas Olaia g 53 03 S Ja8
Locking Tooth Type Fast End Milling Cutter

» M
N
AJX06-16-2T-M8 31.0
AJX06-17-2T-M8 31.0
AJX08-20-2T-M10 33.3
AJX08-21-2T-M10 33.3
AJX09-25-2T-M12 35.7
AJX09-26-2T-M12 35.7
AJX09-28-2T-M12 35.7
AJX12-30-2T-M16 40. 4
AJX12-32-2T-M16 40. 4
AJX12-35-2T-M16 47. 6

83 2y od (Elad )l ) 3a) alie

Tungsten steel anti-vibration tool rod

BRI TSI
YU s 3l se

SPMG050204
SPMG060204
SPMGO7T308
SPMG090408
SPMG110408
SPMG140408

ZP30
ZP30
ZP30
ZP30
ZP30
ZP30

00 00 0000 NN [oe]ie olio N NN N> 00 00 0O 0o N> 00 00 00 0O

OCOCOOoOo | o000 o

QWUWRONN | e =
AO WOV

WC 23S 3)) 5 )5 aam Dl oa) g i
WC Insert Type Quick Drill

12 | XOMT040104 | 61.7] 91.4| - )
12| XCMT050204 | 57.1| 850 -
16 | XCMT060204 | 47.1| 653 | - -
20 | WOMX030208 | 25 3| 320 | 376 671
25 | WOMX030208 | 25.3| 32.9| 37.6| 67.1
25 | WONX040208 | 35 3| 42 6| 50.3] 729
dxDxLl 32| WOMX050308 | 35 3| 42.6| 503| 729
08100 25.5-30 | 32 | WCMX050308 | 42 6| 453 | 52.9| 80.0
WFLO808~100-M4 °75 30531 | 32 | WOMX050308 | 57.6| 59.6 | 72.9| 100 4
0100 31.5-40 | 32 | WOMX06T308 | 57.6| 59 6| 729 100.4
P R Ay 32 | WOMX06T308 | 69.0| 767 | 960 1257
Y 40 | WoMX06T308 | 90| 76.7| 960|125 7
100 43-45 40 | WOMX080412 | 69.0] 76.7 | 960 125 7
N2 2o 50 4650 40 | WOMX080412 | 75 4| 93.3| 102.9| 137 1
MEL19-1-200-Me 1525 5155 40 | WOMX080412 | &5 0| 109.7| 130.3| 148 6
56-57 40 | WCMX080412 | 89 0| 112.4| 171.4] 165 7
e 58-59 40 | WOMX06T308 | 89 0| 112.4] 171 4| 165 7
LS oo e 550 60-63 40 | WOMX06T308 | 93 3| 123.3| 197.9| 201 1
R AT 1S ea6s 40 | WOMXQ6T308 | 1003 137.1| 224.0| 231.0
AL 51 6668 40 | WOMX06T308 | 1017 151.0| 228 6| 240 0
MEL 1 et —200-18 a0 69770 40 | WOMX06T308 | 102.9 160 0| 240 0| 262 9
MFL16-16-250-M8 226.1 3 :
SP 43« CU“ 8}4 C)A L
mgt}g—lg‘;gg—mg g%; SP Insert Type Quick Drill
MFL19-19-250-M10 326, 1 Id
MFL20-20-100-M10 154.7
MFL20-20-150-M10 204. 7
MFL20-20-200-M10 273.9
MFL20-20-250-M10 326. 1 :
2O 3739 "43-14.5 | 20 | SPMG050204 | 30.4| 357 | 44.7| 78 6
15 25 | SPMG050204 | 30.4| 357 | 447 78 6
o2 2759 15520 | 25 | SPMGO60204 | 30.4| 357 | 4.7 /8.6
NEL2a- 2820072 200 205-21.5| 25 | SPHG0s0204 | 41.9| 476 607 833
NFL2a—2a-250-M2 2999 “22-24.5 | 25 | SPWGOTT308 | 41.9| 476 60./| 83.3
WL 24-24-30072 57 25-27.5 | 32 | sPMGO7T308 | 50.3| 547 | 5.4 91.4
T 259 2830 32 | SPMG090408 | 50 3| 54 7| 66 4| 91 4
NFL25—25-200-M2 200 [30.5-33.5 32 | SPWG090408 | 66.9| 72.9 | 85.1| 108.6
WFL25-25-250712 2299 3440 32 | SPMG110408 | 66.9] 729 | 881 108 6
T ol 32 | SPMG110408 | 79.0| 88 1| 105 4| 1371
O 445 40 | SPMG140512 | 79 0| 881 | 105 4| 137 1
46-50 40 | SPMG140512 | 88 1| 98.9 | 125 7| 148 6
N2 200 e bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0] 144 0] 171 4
NFL32- 327200710 1209 e 40 | SPMGO7T308 | 98 9| 123.9| 208 1| 228 6
WFL32732-3007mo 57 5759 40 | SPNG090408 | 98 9] 123 9| 208.1| 228 6
Moo 11908 063 40 | SPMG090408 | 103.% 136 9| 250 0| 271 4
O 6466 40 | SPMG090408 | 111.0 161.9| 280.0| 300 0
o L i e o e L 67768 40 | SPNG110408 | 111 0 161 9] 280 0] 300 0
e ”jj)s; g o e e 970 40 | SPMG110408 | 114 4 173.9| 290 0| 328 6

Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

* Lock teeth type tool stock Specifi cation are complete

Please inquire for Specification not listed.

Coagd 43 38 9 Gllle (Ji3 5 Jaa Jald 3L Caand,

O el Yo Al O3lalas Cuegd,

s Jaea) l] () 4358 pisla @5 o eVa@mzgtool.cn

Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

http://www.mzg.tw



http://www.mzg.tw

52338 AduA ) 3

Boring Tool

020K 4wl ) ja) NBH2084 =
(02338 A3A 434)2:8-280mm) :;
7y ) ’u-
i w AN
& ///,/h v
E = 3

NBH2084 Boring Tool
(Boring range: 8-280mm)
Fine-Tuning Accuracy 0.01mm

Glaida 4iald D Cragd
22138 43uA ) 34 Holder
SBJ2008-32 8-11 8.6
SBJ2010-40 10-13 8.6
SBJ2012-53 12-17 8.6
SBJ2016-68 16-21 8.6
SBJ2016-102 16-21 20. 4
SBJ2020-83 20-130 8.6
SBJ2020-125 20-130 20.4
SBJ2020-150 20-130 23.9
SBJ2020-200 20-130 28.6
SBJ2025-96 25-135 8.6
SBJ2025-144 25-135 20.4
SBJ2025-150 25-135 23.9
SBJ2025-200 25-135 28.6
SBJ2030-115 30-140 8.6
SBJ2030-173 30-140 23.9
SBJ2030-200 30-140 28.6
SBJ2020-L 120-280 8.6
SBJ2020-150L 120-400 | 23.9
2038 aadaii | 02058 At ) 3l
NBH2084Boring head 8-280 138.1
R8-NBH2084-8P 8-280 233.3
NT30-NBH2084-8P 8-280 233.3
NT40-NBH2084-8P 8-280 233.3
NT50-NBH2084-8P 8-280 309. 6
BT40-NBH2084-8P 8-280 233.3
BT50-NBH2084-8P 8-280 273.9
SK40-NBH2084-8P 8-280 278. 6
SK50-NBH2084-8P 8-280 309. 6

52338 4duA ) I NBYY T
(62338 43uA 434)2:8-50mm)

NBJ16 Boring Tool
(Boring range: 8-50mm

Fine-Tuning Accuracy 0.01mm

52338 43ud ) 34l Holder

'I\

KIS

4k e | RBH19C |LBK1| 19-25 | 28.6
e RBH25C |LBK2| 25-33 | 28.6
Rounr Borma coisr | RBH32G  |LBK3[ 32-42 | 31.0
_~ . | RBH4OC |LBK4| 40-55 | 40.4

%8 RBH52C |[LBK5| 52-70 | 61.9

P RBH68C |LBK6| 68-92 | 83.3
RBH90C |LBK6| 90-122 |102.4

RBH120C |LBK6| 120-164 | 119.0

RBH160C | BST | 160-204 |135. 7

RBH200C | BST | 200-310 |273.9

RBH300C | BST | 300-410 |544.0

Insert:CCMT RBH400C | BST | 400-510 |583. 3
RBH500C | BST | 500-610 | 681.0

Indexable Fine-Tunable] CBH20 LBK1 20—26 135.7
VoS b oatos L8| 2533|1547
RPN CBH32  |LBK - 163. 1
82 Boring Cutter | opua0  |LBK4| 40-55 |181.0
CBH52 |LBK5| 52-75 |204.7

CBH68  |LBK6| 68-102 |238.1

CBH100 |LBK6| 100-152 |273.9

CBH150 |LBK6| 150-202 |323.9

CBH200 | BST | 200-310 |714.3

CBH300 | BST | 300-410 |821.4

CBH400 | BST | 400-510 |919.0

CBH500 | BST | 500-610 [1023.9

EWN20 | CK1 | 20-36 |123.9

EWN25 CK2 | 25-47 |131.0

EWN32 CK3 | 32-60 |142.9

_ : EWN41 CK4 | 41-74 |163.1
% mm | EWNS3 | CK5 [ 53-95 1178.6
EWN68 | CK6 | 68-150 |197.6

EWN100 | CK6 | 100-203 |214.3

oS adud L5 o0 EyNg— 20-25 | 13.1
535S 43 ) 33l Glamp CBH1-2 25-31 | 13.1
CBH1-3 30-36 | 13.1

CBH2-1 25-33 | 13.1

CBH2-2 32-40 | 13.1

CBH2-3 39-47 | 13.1

CBH3-1 32-42 | 13.1

CBH3-2 41-51 | 13.1

CBH3-3 50-60 | 13.1

CBH4~1 41-54 | 13.1

@(‘3 CBH4-2 50-63 | 13.1

b CBH4-3 61-74 | 13.1
| — 1 CBH5-1 53-70 | 13.1
CBH5-2 65-82 | 13.1

CBH5-3 78-95 | 13.1

CBH6—1 68-100 | 13.1

100-153 | 13. 1

CBH6-2 94-126 | 13.1

126-179 | 13. 1

CBH6-3 118-150 | 13. 1

Insert:TP.. 150—203 13 1
BEO9A M5 16.7

| 1) oaii€ 45wa | BE10.5A M5 16.7
BE BE12A M6 | 167
BE Boring Tool BE14A M6 16.7
BE16A M6 16.7

BE18A M10 16.7

BE20A M10 16.7

BE22A M10 16.7

BE24A M10 16.7

BE26A M10 16.7

BE28A M10 16.7

BE30A M10 16.7

BE32A M10 19.0

BE34A M10 19.0

BE36A M10 | 23.9

BE38A M10 | 23.9

BE40A M10 | 23.9

s Ol EC | ER1408 = 14.3
EC Conversion Sleeve EC1610 - 14.3
EC1612 - 14.3

EC1614 - 14.3

::;5‘,,“ _”Jf_ STO8-W5-100L | M5 | 59.6
Tanosion side ST10-W6-110L M6 69.0
Boring Bar ST12-W6-120L M6 88. 1
ST12-W6-150L M6 107.1

emm— | ST14-16-160L M6 119.0
ST16-W10-160L| M10 |135.7

ST16-W10-180L] M10 |150.0

SBJ1606-24 6-9 8.6
SBJ1608-32 8-11 8.6
SBJ1610-40 10-13 8.6
SBJ1612-53 12-15 8.6
SBJ1614-60 14-17 8.6
SBJ1616-68 16-21 8.6
SBJ1620-83 20-26 8.6
SBJ1620-150L 20-26 23.9
SBJ1620-200L 20-26 28.6
SBJ1625-90 25-31 8.6
SBJ1625-150L 25-31 23.9
SBJ1625-200L 25-31 28.6
SBJ1630-90 30-36 8.6
SBJ1630-150L 30-36 23.9
SBJ1630-200L 30-36 28.6
SBJ1635-90 35-41 8.6
SBJ1635-150L 35-41 23.9
SBJ1635-200L 35-41 28.6
SBJ1640-90 40-46 8.6
SBJ1640-150L 40-46 23.9
SBJ1640-200L 40-46 28.6
SBJ1645-90 45-51 8.6
SBJ1645-150L 45-51 23.9
SBJ1645-200L 45-51 28.6
238 aplaii | 52138 Adnd ) 30

NBJ1 6Boung head 8-50 138.1
NT40-SBJ16-55-12P 8-50 233.3
NT50-SBJ16-65-12P 8-50 233.3
BT30-SBJ16-55-12P 8-50 233.3
BT40-SBJ16-55-12P 8-50 309.6
BT50-SBJ16-65-12P 8-50 233.3
SK30-SBJ16-60-12P 8-50 273.9
SK40-SBJ16-60-12P 8-50 278.6
SK50-SBJ16-65-12P 8-50 309. 6

HBOR 0338 43uA (383

HBOR Fine-Tuning Boring -
Cutter (Fine-Tuning
Accuracy 0.002mm)

Glaidia 4iala p Ciand
HBOR25 Boring Cutter
HBOR25M (29_38) Boring head 29-38 666.7
HBORZSM (29-38) Back Boring 29_38 666.7
BT30-HBOR25P 857.1
BT40-HBOR25P 857.1
SK30-HBOR25P 857.1
SK40-HBOR25P 857.1
HSK63A-HBOR25P 976.1
CA0602-09Tcarbide Boring 2-3.2 59.6
CA0603-16Tcarbide Boring 3-4.2 59.6
CA0604—-22Tcarbide Boring 4-5.2 59.6
CA0605-27Tcarbide Boring 5-6.2 59.6
CA0606—32Tcarbide Boring 6-7.2 59.6
CB06050-21 ( CC03) 5-6 123.9
CB06055-26 ( CC03) | 5.5-6.5 | 123.9
CB06060-26 ( CC03) 6-7 123.9
CB06065-31 ( CC03) | 6.5-7.5 | 123.9
CB06070-31 ( CC04) 7-8 123.9
HBOR32 Boring Cutter
HBOR32M (36-52) Boring head 36-52 800
HBOR32M (36—52) Back Boring 36_52 800
HBOR40 Boring Cutter
HBORAOM (44-68) soring heas | 44-68 | 833.°3
HBORAOM (44-68) gackBoring | 44768 | 833.3
HBORS5 08 pukaii | 08 aiud 15
HBORSOBM (57_90) Boring head 57-90 742.9
HBOR50BM (57_90) Back Boring 57-90 742.9
BT30-HBOR50 (06-90) 6-90 857.1
BT30-HBOR50 (06-90) —14P 6-90 1190. 4
BT40-HBOR50 (06-90) 6-90 857.1
BT40-HBORS50 (06-90) —14P 6-90 1190. 4
BT50-HBOR50 (06-90) 6-90 904.7
BT50-HBOR50 (06-90) —14P 6-90 1273.9
SK30-HBOR50 (06-90) —14P 6-90 1273.9
SK40-HBOR50 (06-90) —14P 6-90 1273.9
SK50-HBOR50 (06-90) 6-90 904.7
SK50-HBOR50 (06-90) —14P 6-90 1273.9
HSK63A-HBOR50 (6-90) —14P|  6-90 1309. 6
HBORG3 s i 1ot s
HBOR63BM (70_1 10) Boring head 70-110 804. 7
HBOR63BM (110-150) soringreas | 110-150 | 804. 7
HBOR63BM (70-110) ack Boring| 70-110 | 804. 7
HBORG3BM (110-150) sacksoring | 110=150 | 804. 7
NT40-HBOR63 6-150 |1071.4
NT40-HBOR63 (6-150) -15P | 6-150 1381
NT50-HBOR63 6-150 1119
NT50-HBOR63 (6-150)—15P | 6-150 |1428.6
BT40-HBOR63 6-150 |1071.4
BT40-HBOR63 (6-150) 15P 6-150 1381
BT50-HBOR63 6-150 119
BT50-HBOR63 (6-150) 15P 6-150 |1428.6
SK40-HBOR63 (6-150) 15P 6-150 1381
SK50-HBOR63 (6-150) 15P 6-150 |1428.6
HSK63A-HBOR63 (6-150) 15P|  6-150 | 1452.4
Boring Accessories
Boring Accessories
BR1606-21 (WBGT0601. . L) 6-9 23.9
BR1608-28 (TBGT0601. . L) 8-11 23.9
BR1610-35 (TBGT0601. . L) 10-13 23.9
BR1612-42 (TP. . 09. . L) 12-15 23.9
BR1614-50 (TP. . 09..L) 14-17 23.9
BR1616-60 (TP..09..L) 16-20 23.9
BR1620-65 (TP. . 11. . L) 20-24 23.9
BR1624-68 (TP. . 11..1) 24-28 23.9
BMS 35.7
SRTP2938 (TP. . 09..L) 28-38 35.7
SRTP3652 (TP. . 09. . L) 36-52 35.7
SRTP4468 (TP. . 09. . L) 44-68 4.7
BM8 9.6
SRTP70110(TP. . 11..L) 70-110 | 47.6
SRTP110150 (TP. . 11..L) 110-150 | 47.6

Cuasgd 4358 5 Gladla (83 5 Jaa Jald iVl Caagd,

O 03 Waal Y SlAl O lelase il

S s Jaeal Lkl (1w 4358 gisls & 2 @VAa@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

02338 4AdA ) Hal

Boring Tool

BSA 338 3 )& (f n
BSA Rough y
Boring Cutter,

&P

52338 3 A (% 1 Holder
Rough Boring Cutter Holder

BST/NBH Toolholder,

BST/NBH
Toolholder

D185 D)3l LBK
LBK Toolholder

CK Toolholder
CK Toolholde

e e EE = -
BT40-BSA25-120 | 47.0  IBS913-6-L 11nit) 1.9 o Ronioee 527 BT30-LBK1-55 | 21.0  BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6  1pZl078em- | ol 1 NT50-NBH2084 714  BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 50.0 TBS919-70-L TC16 19' 0 SK40-NBH2084 35.7 BT30-LBK2-80 21.0 BT30-CK2-80 35.7
BT40-BSA42-165 | 50.0  1BR019-90L |Tc1e| 10 0  SK50-NBH2084 71.4  BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6 TBS919-85-L | TC16| 19 0  BBT40-NBH2084 1547 BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSA62-180 | 63.1  TBS919-105-L |1C16| 23 9  BBISO-NBIZ084 2V} BI30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 | 71.4  TBS925-100-L |TC16[31.0  GAT50-NBH2084 05 o BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 89.3 TBS925-135-L |TC16| 38.1 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 1S040-NBH2084 46,4 BTA0-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 (5050 MNEtigoo4 927 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 - I 95 ¢ BT40-LBK1-165 | 357  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R 9 MT4-NBH2084 42 9 BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TBS910-45-R "9 MT5-NBH2084 50.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R 9 MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1  TBS913-65-R .9 MTB3-NBH2084 42.9 BT40-LBK2-130 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 953 TBS916-60-R Lt 29 BT40-LBK2-185 | 35.7 BT40-CK3-135 | 44.7
BT50-BSA72-285 | 131.0  TBS916-80-R -9 \ITB6-NBH2084 45 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3 }ggg]g:gg:g : 8 R8-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3 222,07 r 0 ') BT40-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 297.6  1p3019-105~ "o BT40-NBH2084-150L | 904  BT40-LBK3-165 | 35.7  BT40-CK4-150 44.7
BT50-BSA105-285| 381.0  TBS925-100— 0 prao-NBHZ08a-a00L | 17 BT40-LBK3-210 | 59.6  BT40-CK4-170 53.6
BSA 22138 3 A (i TBS925-135- 1 BT50-NBH2084—150L 90 4 BT40-LBK4-85 21.0 BT40-CK5-60 35.7
BT50-NBH2084-200L | 119.0 BT40-LBK4-115 21.0  BT40-CK5-100 35.7
BSA Rough — BT50-NBH2084-250L | 148 9  BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring Cutt?":-""" - BT40-BST—70 6.7  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
. BT40-BST-100 66.7  BT40-LBK4-175 | 35.7  BT40-CK6-100 35.7
g BI40-BST-150 [14 BT4O-LBKA-220 | 59.6  BT40-CK6-150 44.7
30— ' —BST- -7 BT40-LBK5-75 21.0
et ‘o BIo0-BST-100 8] BTA0-LBK5-125 | 28.3  BT50-CK1-115 | 75.0
CBS910-45-L .9 BT50-BST-200 33 3  BT40-LBK5-175 35.7  BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4  CBS913-48-L 9 BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28.6 9 BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 WA 1555 BT40-LBK6-115 | 21.0  BT50-CK2-135 82. 1
BSA62-90-LBK5 | 41.7 : g BT20-BST-450 io0 % BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
BSA72-110-LBKé 51.1 0 BT50-BST-500 738 1  BT40-LBK6-165 35.7  BT50-CK2-235 95.3
oo -
' 9 —BST- : -CK3- :
‘o SK50-BST-100 92.9  BT50-LBK1-115 53.6  BT50-CK3-175 78.6
Bofig Guter 1 SkooeesT-120 1239 BTS0-LBK1-145 | 59.6 BT50-CK3-290 | 140.7
P il | L s | seerws |
\ —— 50-LBK2- 53.6 -CK3- 189.
Caad LBK -.4 BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
B | 5« Extension Rod | BT50-LBK2-175 | 65.4  BT50-CK4-160 78.6
9 - BT50-LBK2-235 108.3 BT50-CK4-205 101.0
Shatein - 9 8 BT50-LBK3-125 | 53.6  BT50-CK4-270 140.7
_ _ 9 e BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
Sﬁg_ggggg_} §8 i;j 2 R 1170 BT50-LBK3-155 | 59.6  BT50-CK4-350 189.3
BT40-BSB50-165 | 536 . g LBK3-3-30 143 BIS0-LBK3-185 | 654  BT50-CK5-90 75.0
B140-BSBe2-180 | €2 ¢ o Bk 160 BTsoB3253 | 91/ BISockszto | 1010
BT40-BSB72-165 | 71.4 9 LBK5-5-60 19.0
BT40-BSB90-180 | 89.3 0 LBK5-5-90 21.4  BT50-LBK3-290 108.3 BT50-CK5-270 140.7
BT50-BSB25-135 | 80.4 o LBK&-6-60 214 BT50-LBK3-300 | 108.3  BT50-CK5-300 140.7
BT50-BSB38-180 | 81.9 QO™ [oRe6100 59 BT50-LBK3-350 | 148.9  BT50-CK5-350 189.3
BT50-BSB50-180 | 86 4 R 9 - BT50-LBK4-115 | 53.6  BT50-CK6-95 75.0
BT50-BSB50-240 | 92 4 0BS925-100-R .0 2 Ol LBK BT50-LBK4-145 59.6  BT50-CK6-155 78.6
BT50-BSB62-195 | 953  CBS925-135-R 1 @ BT50-LBKA-160 | 65.4  BT50-CK6-215 101.0
BT50-BSB62-270 | 107. 1 ' BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7
BT50-BSB72-195 | 104. 3 LBK Conversion Slee BT50-LBK4-255 | 91.7  BT50-CK6-300 140.7
BT50-BSB72-285 | 140.0 E— W BT50-LBK4-305 | 108.3 BT50-CK6-350 189.3
BT50-BSB90-210 | 163.9 LBK2-1-36 31.0 DIO0-LBKA—350 | 148.9
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 310 BI50-LBK5-105 | 53.6 =S mmCK
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9 LBK3-2-37 310 BT50-LBK5-180 65.4 CK Extensmﬁ_
BT50-BSB105-285 | 383 1 ¥ES413—60 TP 119 LBK4-1-58 357  BT50-LBK5-240 | 75.0 X
il g S416-75 TP11| 11.9  LBK4-2-50 35.7  BT50-LBK5-300 | 108.3 .¥
BSB-LBK 23338 3 )& (5 » TBS419-90 TC16( 19.0 LBK4-3-50 35.7  BT50-LBK5-350 148.9 _
BSB-LBK Rough TaSgez 115 o) 1.0 I[Eﬁg_;_gg 28'1 BT50-LBK6-95 53.6 —
> ou — LT .
o g B S L0 Motmetn | Gl
Leko-3-72 404 BTSO-LBK6-230 | 75.0  CK1-1-30 29.7
4T . BT50-LBK6-290 108.3  CK2-2-30 29.7
il LBK5-4-67 40. 4 _LBK6—
CBS408-30 o LBK6-1-70 294 BTS0-LBK6-350 | 148.9 gﬁ—i—ig %Z;
(85408-35 9 LBKE2S 200 HSK63A-LBK1-105| 148.9 4 '
CBS410-45 9 LBK6—2-93 56.0 . CK4-4-60 35.7
BSB25-52-LBK2 | 27-4  (BS410-50 o LBK6-3-56 46,4 HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 28. 6 CBS413-60 9 LBK6-3-96 56.0  HSK63A-LBK3-125| 148.9  CK5-5-90 44.7
BSB50-90-LBK4 | 32.9  CBS416-75 L9 LBKOAS 204 HSK63A-LBKA-115| 148.9  CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS#19-115  [CC12[ 190 [BKe 5-a1 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12] 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

Gt adn Ha 9 Gl ¢Ji3 5 Jea Jald iVl Gl

Aty lalae Ciagd,

L= o2 eva@mzgtool.cn

O o el Y

N
(@)

s 5y Uyl Balal 1 gas 43,8 sl & http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

ER Collet Toolholder
ER Collet Toolholder

Glaidia

NO. xColletxA/MxL

< e

NO. xColletxA/MxL

ER Extension Collet

ER Collet Extension

Glinddia iy iy

Collet

ER8
ER11
ER16
ER20
ER25
ER32
ER40
ER50 1

AN W
\OOO\O\I\I\I—‘

0.01mm 0.008mm 0.

R8-ER25 17.1
R8-ER32 17.1
R8-ER40 19.7
MTB3-ER20 16.0
MTB3-ER25 16.0
MTB3-ER32 17.1
MTB4-ER25 17.1
MTB4-ER32 18.6
MTB4-ER40 22.4
MTB5-ER40 26.4
NT30-ER25 17.1
NT30-ER32 17.1
NT30-ER40 19.7
NT40-ER25 17.1
NT40-ER32 17.1
NT40-ER40 19.7
1S020-ER16-35MS 40.4
1S025-ER20-35MS 40.4
1S030-ER32-42 27.4
1S030-ER32-60 27.4
HSK32E-ER16-050MS 82.1
HSK32E-ER20-050MS 82.1
HSK32E-ER20-060MS 82.1

= = 82.1
BT30-GER16-70 21.4
BT30-GER16-100 21.4
BT30-GER20-70 21.4
BT30-GER20-100 21.4
BT30-GER25-70 21.4
BT30-GER25-100 21.4
BT40-GER16-70 21.4
BT40-GER16-100 21.4
BT40-GER20-70 23.9
BT40-GER20-100 23.9
BT40-GER25-70 23.9
BT40-GER25-100 23.9
BT40-GER32-70 23.9
BT40-GER32-100 23.9

erdal/ daa

ER Wrench/Nuts

"y ®

Glnddia

Wrench

Collet

ER8A/M
ER11A/M
ER16A/M
ER20A/M
ER25UM
ER32UM
ER40UM
ERS50UM

AON===DN
(=N NENEN NN

PN
wO—_o~NN~No

&3]

BT30-ER11-70 16.0
BT30-ER11-100 16.0
BT30-ER16-70 18.6
BT30-ER16-100 18.6
BT30-ER16-150 19.7
BT30-ER20-70 18.6
BT30-ER20-100 18.6
BT30-ER20-150 19.7
BT30-ER25-70 18.6
BT30-ER25-100 18.6
BT30-ER25-150 19.7
BT30-ER32-70 18.6
BT30-ER32-100 18.6
BT30-ER32-150 19.7
BT30-ER40-80 17.1
BT30-ER40-100 17.1
BT40-ER11-70 21.1
BT40-ER11-100 21.1
BT40-ER16-70 211
BT40-ER16-100 21.1
BT40-ER16-150 22.4
BT40-ER16-200 37.1
BT40-ER20-70 21.1
BT40-ER20-100 21.1
BT40-ER20-150 22.4
BT40-ER20-200 37.1
BT40-ER25-70 21.1
BT40-ER25-100 21.1
BT40-ER25-150 22.4
BT40-ER25-200 37.1
BT40-ER32-70 21.1
BT40-ER32-100 211
BT40-ER32-150 22.4
BT40-ER32-200 37.1
BT40-ER32-250 50.3
BT40-ER32-300 74.0
BT40-ER40-80 19.7
BT40-ER40-100 19.7
BT40-ER40-150 23.9
BT40-ER40-200 39.7
BT50-ER16-100 39.7
BT50-ER16-150 50.3
BT50-ER16-200 63. 6
BT50-ER20-100 39.7
BT50-ER20-150 50.3
BT50-ER20-200 61.0
BT50-ER20-250 81.9
BT50-ER20-300 100. 4
BT50-ER25-70 39.7
BT50-ER25-100 39.7
BT50-ER25-150 50.3
BT50-ER25-200 61.0
BT50-ER25-250 84.7
BT50-ER25-300 100. 4
BT50-ER32-70 39.7
BT50-ER32-100 39.7
BT50-ER32-150 50.3
BT50-ER32-200 61.0
BT50-ER32-250 81.9
BT50-ER32-300 97.9
BT50-ER32-350 126.9
BT50-ER32-400 158. 9
BT50-ER40-100 42.4
BT50-ER40-150 52.9
BT50-ER40-200 63.6
BT50-ER40-250 87.4
BT50-ER40-300 105.7
BT50-ER40-350 129.6
BT50-ER40-400 158.9
BT50-ER50-100 74.0
BT50-ER50-150 81.9
BT50-ER50-200 92.6
BT50-ER50-250 121.7
BT50-ER50-300 158. 9

- 2 I .

G 8 023 58 53 ) 3l ER Collet
ER Collet Extension Toolholder
Collet

DxColletxA/MxL

C10-ER8-100

C10-ER8-150

C12-ER8-100

C12-ER8-150

C12-ER11-100
C12-ER11-150
C16-ER11-100
C16-ER11-150
C16-ER16-100
C16-ER16-150
C16-ER16-200
C16-ER16-250
C16-ER20-100
C16-ER20-150
C16-ER20-200
C20-ER20-100
C20-ER20-150
C20-ER20-200
C20-ER20-250
C20-ER16-100
C20-ER16-150
C20-ER16-200
C20-ER16-250
C20-ER11-100
C20-ER11-150
C20-ER25-100
C20-ER25-150
C25-ER16-100
C25-ER16-150
C25-ER16-200
C25-ER16-250
C25-ER20-100
C25-ER20-150
C25-ER20-200
C25-ER25-100
C25-ER25-150
C25-ER25-200
C25-ER25-250
C25-ER32-100
C25-ER32-150
C32-ER32-100
C32-ER32-150
C32-ER32-200
C32-ER32-250
C40-ER40-100
C40-ER32-100
C32-ER40-100

c

ool

I e R I T Shl NN N S A O S A S =P

O NRO OO A ORONNLONNRARAWW S NN o NN NN oo NN~ wy wl

o83 e Jl ol e2d )2 FuB
FMB Inch Face Milling Tool Holder

R8-FMA25. 4
R8-FMA31. 75
C20-FMB25. 4
NT50-FMA31. 75-75
NT50-FMA38. 1-75
NT50-FMA47. 625-75
NT50-FMA50. 8-75
BT40-FMA25. 4-60
BT40-FMA25. 4-100
BT40-FMA31. 75-60
BT40-FMA31. 75-100
BT40-FMA38. 1-60
BT40-FMA38. 1-100
BT50-FMA25. 4-60
BT50-FMA25. 4-100
BT50-FMA25. 4-150
BT50-FMA25. 4-200
BT50-FMA25. 4-250
BT50-FMA25. 4-300
BT50-FMA31. 75-60
BT50-FMA31. 75-100
BT50-FMA31. 75-150
BT50-FMA31. 75-200
BT50-FMA31. 75-250
BT50-FMA31. 75-300
BT50-FMA38. 1-60
BT50-FMA38. 1-100
BT50-FMA38. 1-150
BT50-FMA47. 625-75
BT50-FMA47. 625-150
BT50-FMA47. 625-200
BT50-FMA50. 8-75
BT50-FMA50. 8-100
BT50-FMA50. 8-150

N
NO W« WO O O
ARVOO_LNOCOVORADRUINON=DROOCO—=——

g_iﬁ):m BTN d)‘lé 023 ,l2 FvB
FMB Metric Face Milling Tool Holder

Glaidia

NO. xdxL

BT30-FMB22-45 14.6
BT30-FMB22-60 14.6
BT30-FMB22-100 18.6
BT30-FMB27-45 14.6
BT30-FMB27-60 14.6
BT30-FMB27-100 18.6
BT30-FMB32-45 16.0
BT30-FMB32-60 16.0
BT40-FMB22-45 17.1
BT40-FMB22-60 17.1
BT40-FMB22-100 18.6
BT40-FMB22-150 22.4
BT40-FMB22-200 37.1
BT40-FMB22-250 47.6
BT40-FMB22-300 61.0
BT40-FMB22-350 74.0
BT40-FMB27-45 17.1
BT40-FMB27-60 17.1
BT40-FMB27-100 18.6
BT40-FMB27-150 23.9
BT40-FMB32-60 17.1
BT40-FMB32-100 17.1
BT40-FMB32-150 23.9
BT40-FMB40-60 19.7
BT40-FMB40-100 21.1
BT40-FMB40-150 26.4
BT50-FMB22-60 39.7
BT50-FMB22-100 39.7
BT50-FMB22-150 50.3
BT50-FMB22-200 61.0
BT50-FMB22-250 81.9
BT50-FMB22-300 100. 4
BT50-FMB22-350 119.0
BT50-FMB22-400 132.4
BT50-FMB22-450 153.3
BT50-FMB22-500 185. 3
BT50-FMB22-550 211.7
BT50-FMB22-600 238.1
BT50-FMB27-60 39.7
BT50-FMB27-100 39.7
BT50-FMB27-150 52.9
BT50-FMB27-200 63. 6
BT50-FMB27-250 84.7
BT50-FMB27-300 103. 1
BT50-FMB27-350 119.0
BT50-FMB27-400 145.4
BT50-FMB32-60 42.4
BT50-FMB32-100 45.0
BT50-FMB32-150 56.9
BT50-FMB32-200 67.4
BT50-FMB32-250 87.4
BT50-FMB32-300 119.0
BT50-FMB40-60 42.4
BT50-FMB40-100 45.0
BT50-FMB40-150 58.1
BT50-FMB40-200 68.9
BT50-FMB40-250 90.0
BT50-FMB40-300 119.0
BT50-FMB60-75 84.7
BT50-FMB60-150 145. 4
R8-FMB22 16.0
R8-FMB27 16.0
R8-FMB32 17.1
R8-FMB40 19.7
C20-FMB22 16.0
C20-FMB27 16.0
C20-FMB32 17.1
C25-FMB22 17.1
C25-FMB27 17.1
C25-FMB32 17.1
C32-FMB22 18.6
C32-FMB27 18.6
C32-FMB32 18.6
MT3-FMB22 17.1
MT3-FMB27 17.1
MT3-FMB32 17.1
MT4-FMB22 19.7
MT4-FMB27 19.7
MT4-FMB32 19.7
NT30-FMB22 18.6
NT30-FMB27 18.6
NT30-FMB32 18.6
NT40-FMB22 18.6
NT40-FMB27 18.6
NT40-FMB32 18.6
NT40-FMB40 21.1
NT50-FMB22 42.4
NT50-FMB27 42.4
NT50-FMB32 42.4
NT50-FMB40-75 43.6
NT50-FMB32-150 52.9
NT50-FMB32-200 63. 6
NT50-FMB60-75 92.6

o a3y 38 5 @bl (i3 g Jua Juld 5V Cuagd,

O 0 W al ¥ Aty Olelas g,

S i daagl Lkl s a5 € iy @, s 52 @Va@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

esk 3 Y e ju by

Yl 3282 ) 5l
Cljovkv’e:\f[u\ onét Toolholder

Glaa
NO. xCol letxL

C el 5§ aia3 a8 )5l

@ C Powerful Collet Toolholder

BT30-MTA2-75
BT30-MTA3-75
BT30-MTA4-75
BT40-MTA1-120
BT40-MTA1-45
BT40-MTA2-120
BT40-MTA2-60
BT40-MTA3-135
BT40-MTA3-75
BT40-MTA4-165
BT40-MTA4-90
BT50-MTA1-120
BT50-MTA1-45
BT50-MTA2-135
BT50-MTA2-60
BT50-MTA3-150
BT50-MTA3-75
BT50-MTA4-180
BT50-MTA4-90
BT50-MTA5-105
BT50-MTA5-210
NT40-MTA2
NT40-MTA3
NT40-MTA4
NT50-MTA1-45
NT50-MTA2-60
NT50-MTA3-75
NT50-MTA4-90
NT50-MTA5-105

BT40-MTB1-120
BT40-MTB1-45
BT40-MTB2-120
BT40-MTB2-60
BT40-MTB3-135
BT40-MTB3-75
BT40-MTB4-165
BT40-MTB4-90
BT50-MTB1-120
BT50-MTB1-45
BT50-MTB2-135
BT50-MTB2-60
BT50-MTB3-150
BT50-MTB3-75
BT50-MTB4-180
BT50-MTB4-90
BT50-MTB5-105
BT50-MTB5-210
NT40-MTB2
NT40-MTB3
NT40-MTB4
NT50-MTB1-45
NT50-MTB2-60
NT50-MTB3-75
NT50-MTB4-90
NT50-MTB5-105

w

aNO—
NWO N

Do N
o w

Rt
N W

o~
o

oo o

IR
NN

WO WOUIWw
Mo COHAONONLOPN = O
OCORARRNOOOCOCOON-"NONOVOOA-YOWOWORROOO

RN
o o o

42.

=
o

31.

-
N

CORADRMDMNOCOOCOCOON_NONOO DA _2NOWOWO N

55.
43.
52.
39.
52.
39.

39.
43.
90.
18.
18.
18.
43.
42.
42.
42.
43.

BT30-GSK10-60 20.3
BT30-GSK10-90 20.3 LA
LAAA.MAA
BT30-GSK16-60 20. 3 N0 xColl ot
BT30-GSK16-90 20.3 .
BT40-GSK10-60 23.9 5%83325
BT40-GSK10-100 23.9 -
BT40-GSK16-60 23.9  Ni30-C32
BT40-GSK16-100 23.9 N o 105
Collet SK10 7.1 [
SK16 9.0 MT5-C32
Collet . MT6-C32
MT6-C42
Bearing Spanner 15.4 NT50-C32-105
NT50-C42-115
MTA/B U5« L) ) Taper Toolholder BT30-C20-80
MTA/B Morse Taper Toolholder BT30-C25-80
BT30-C32-105
BT40-C20-90
BT40-C25-90

BT40-C32-105
BT40-C42-100
BT50-C20-105
BT50-C25-105
BT50-C32-105
BT50-C32-135
BT50-C32-165
BT50-C32-200
BT50-C32-250
BT50-C32-300
BT50-C42-115
BT50-C42-135
BT50-C42-165
BT50-C42-200
BT50-C42-250
BT50-C42-300
SK50-C32-110
JT50-C32-110

63. 6
63. 6
63. 6
63. 6
61.0
74.0
100. 4
145.4
180.0
92.6
119.0
61.0
61.0
61.0
61.0
61.0
55.4
105.7
92.6
92.6
92.6
105.7
119.0
145.4
171.9
224.7
119.0
132.4
145.4
171.9
211.7
259.3
171.9
171.9

saipua 4de Sla

Tool Shank Of
Self -Tightening
Drill Chuck

APU13 Drill Chuck
APU16 Drill Chuck
BT30-APU08-80
BT30-APU13-100
BT30-APU16-100
BT40-APU08-100
BT40-APU13-100
BT40-APU16-120
BT50-APU13-110
BT50-APU13-180
BT50-APU16-130
BT50-APU16-180
NT30-APU13-100
NT40-APU13-100
NT30-APU16-120
NT40-APU16-120
odinua 4ia Sla1-13
odiwua 4ia Sla1-16
C20-APU13
C20-APU16
C32-APU13
R8-APU13
R8-APU16
MT3-APU13
MT4-APU13
MT3-APU16
MT4-APU16

Cod 43 58 9 Gllle (Ji3 5 Jaa Jald 3L Caagd,

Collet C20 3.6

Collet C25 3.6

Collet 32 3.6

Collet C42 7.6

Wrench G20/25/32/42 3.9
T RS

23.
26.
37.
37.
39.
37.
37.
39.
58.
79.
62.
84.
39.
39.
42.
42.
19.
23.
31.
34.
35.
31.
34.
30.
30.

S A RWNNWNONARMYNN_, W22 MO

1.9

SDC Back-Pull #3313 )& 31 )1 3l Collet

SDC Back-Pull Collet Toolholder

SLN Side Fixed Type Toolholder

Toolbinder sl s2ila Culi g 53 siN

BT30-SDC6-90 59.6 NO. xdxL
BT30-SDC8-90 59.6 _
BT30-SDC10-90 596 BlagcsiMda o4
BT40-SDC10-90 63. 6 BT40-SLNO6-75 21'1
BT40-SDC8-120 79.3 BT40-SLN12-75 17'1
BT40-SDC10-120 79.3 BT40-SLN16-75 17'1
BT40-SDC12-120 79.3 BT40-SLN20-75 17:1
CLLE BT40-SLN20-150 25.3
Collet SDCO6 11.9 BT40-SLN25-100 171
Collet SDCO8 119 BT40-SLN25-150 25.3
Collet SDC10 131 BT40-SLN32-100 17.1
Collet SDC12 13.1 BT40-SLN32-150 25 3
BT40-SLN40-100 19.7
Toolholder el 5 sKan 4sa sl L2 wkilas  BT50—-SLN06-105 46.1
Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT50-SLN10-105 46.1
BT50-SLN12-105 39.7
BT50-SLN16-105 39.7
J BT50-SLN20-105 39.7
BT50-SLN25-105 39.7
BT50-SLN32-105 39.7
BT50-SLN40-105 42.4
© BT50-SLN40-150 52.9
., BT50-SLN40-200 63.6
BT50-SLN40-250 92.6
T BT50-SLN40-300 105. 7
N0 xCol letxl BT50-SLN50. 8-120 55. 4
BT50-J4112 119.0 - -
BT50-J4124 132.4 g}g_gtui_]gg %%:j
BT40-J4112 793 610-SLN6-100 22.4
BT40-J4124 92.6 10-SLN6-150 22.4
MT3-J4112 740 ¢12-SLN4-100 22.4
MT4-J4112 793 (12-SLN4-150 22.4
MT5-J4124 100. 4 C12-SLN6-100 22 4
C12-SLN6-150 22.4
Tap Collets C12-SLN8-100 22.4
GT312 China Standard 16.0 C12-SLN8-150 22.4
GT312 Japanese Standard 18.6 C16-SLN10-100 22.4
GT24 China Standard 19.7 C16-SLN10-150 22.4
GT24 Japanese Standard 22.4 016-SLN6-100 22.4
P U C16-SLN6-150 22. 4
o) s )l aila 58 Ll C16-SLN8-100 22.4
Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 22.4
C20-SLN10-100 25.3
C20-SLN10-150 25.3
C20-SLN6-100 25.3
C20-SLN6-150 25.3
C20-SLN8-100 25.3
C20-SLN8-150 25.3
- NT40-SLN12 19.7
Al NT40-SLN16 19.7
NO. xCo | letxL NT40-SLN25 19.7
BT40-SCA22-90 65.4 NT40-SLN32 19.7
BT40-SCA25. 4-90 65.4 NT50-SLN12 42. 4
BT40-SCA25. 4-120 83.3 NT50-SLN16 42. 4
BT40-SCA27-90 65.4 NT50-SLN20 42.4
BT40-SCA32-90 65.4 NT50-SLN25 42.4
NT50-SLN32 42.4
D158 Opila (iA e @i 8 F s NT50-SLN40-105 43.6
Machine Tool Spindle Test Rod NT50—SLN42—1 05 47. 6
rﬂ — \ NT50-SLN50. 8-120 55. 4
15020-11. 3—Probe 40. 4
- 18025-11. 3—Probe 40. 4
15025-20—Probe 40.4
BTa0 05 HSK32E-11. 3probe 82.1
BT50 131.0

APU Wrench (08/13/16)

STENSERCEEREY REp EN KGN DAE PYGIvN |

s Jaea) L] (s 438 pisils @5 o eva@mzgtool.cn

http://www.mzg.tw

N
oo



http://www.mzg.tw

Dl ead Hla saila ?j\}j 0\ [@:

CNC Tool Holder Accessories

B\BTI\B Y b_)ﬁg CNC Vo) Jad il ene Vo) Jad il ene Vo) Jad il ene
CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset CNC Tool Holder Lockset
45°/60°/90°
{7
BT DIN69872 180 JIs
Glandda
BT30-45° 1.4 NBT30 14.3 18020 59.6 BT30 17.9
BT30-60° 1.4 18025 59.6 BT40 19.0
BT30-90° 1.9 HSK25 59.6 BT50 38.1
BT40-45° 1.4 HSK32 59.6
BT40-45° )5 Gaob ) 1.9 HSK40 71.4
BT40-60° 1.9 HSK50 71.4
BT40-90° 1.9 HSK63 83.3
BT50-45° a1 HSK100 119.0
BT50-45° &, 5m Gayb ) 3'2
BT50-60° L 30 saaoling oNe il 4l bl & 52 02,8 Jaal ) 3l Gl
BT50-60 C\J)“‘ o= ). 3.6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
BT50-90° 36
DIN69872-30 36
DIN69872-40 6.0
DIN69872-50 4.6
1507388-30 4.6
1807388-40 6.0
1807388-50 36
J1S6339-30 36
J156339-4 '
JI 82333—58 g 2 JHJL'L'M S Ceramic Photoelectric
MAZAK-BT40 6.0
MAZAK-BT50 '
Photoelectric Z-axis Setter e type . BT30 3.9
S 68 et Z-axis Setter | 667  wublisa satype 3.6 BT40 3.9
Sl s 5L sial type 10.7 BT50 5.4
Photoelectric type 13.3

ot a3y 38 5 bl (i3 5 Jua Juld 5V e,

2 9 O 03 Waal HYa JIATs O lalas Ciagd,
s iy gl Ul s 6 € 5 il @m0 @VA@@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

mla e)'\}j ENS o) 3 Gadila

Lathe Chuck Accessories

Sl 5 Sl

Chuck T Block

“agi
usbD

.ﬂa._\\

inch 10.7
. 6 inch 11.9
8 inch 15.4
10 inch 19.0
12 inch 22.1
NSl =B T o d\?
Chuck Jaw Fixing Plate Alay) L;SB-
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS-204 | - 5 Tan 619
5 inch SBL-205 | 435.3 | SB-205 | 435.3 | SBS-205 | 482.9 ,ﬁ 6 inch 739
a5 Sl one S84 inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 (¥ 7 8 inch 107 1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 . D ot :
10inch SBL-210 | 697.6 | SB=210 | 697.6 | SBS=210 | 800.0 e 1154
Hollow Hydrautic Chuck | 12inch SBL-212 | 1190. 4| SB-212 | 1190 4| SBS-212 | 1326. 1 ~ . -
oo TR T 15 nch SBL-215 | 2642.9| SB-215 |2642.9| SBS-215 |3000.0 % 50N D) i
SRR T4 inch 2DTK-206 | 647. 6 | 3DTK-206 | 647.6 | 4DTK=206| 714.3  soiia Hyarauiic alaa)
Ao g Sy yse Slag inch 2DTK-208 | 782.1 | 3DTK-208 | 782. 1 |4DTK-208 | 869 0  Rotary Cylinder ,
Hollow Hydraulic Chuck | 10inch 2DTK-210 | 935.7 | 3DTK-210 | 935. 7 | ADTK-210 | 1038. 1 - g !ncmgg;g;
T 5B 6 Re B T inch 3JDB-206 | 988. 1 F e 131.0
GMa 5 Sl s s S138 inch 3JDB~208 | 11214 , 8/10inch(1225) 150.0
Hollow Hydraulic Chuck 10inch 3JDB—210 1258. 3 12 InCh(1530) 1976
) b 5l 4as & 43|5 inch SBL-205KQ| 595. 3 | SB-205KQ | 547. 6 |SBS-205KQ 666. 7 — T T
B At 7 |6 inch SBL-206KQ| 631 0 | SB-206KQ | 611 9 |SBS-206KQ) 714 5 < R S amn
Hollow HalfThrodgh |8 inch SBL-208KQ| 714.3 | SB-208KQ | 681. 0 [SBS=208KQ| 788.1  tiofiow Hydrauic alayl
Pneumatic Chuck | 10 jnch SBL-210KQ| 785. 7 | SB-=210KQ | 750. 0 |SBS-210KQ| 908.¢6  Rotary Cylinder -
4 inch INL-04 | 428.6 | JN-04 | 401 1 g !ncﬂ(ﬁgg%
5 inch INL-05 | 452.4 | JIN-05 | 409.6 inch(1036) |273.
sla Sl yasa Sla |6 inCh INL-06 | 500.0 | JIN-06 | 459.6 6 inch(1246) 1306.0
S TR0 T8 inch INL-08 | 547.6 | JIN-08 | 511.9 8 inch(1552) |357.1
Solid Hydraulic Chuck 10inch JNL-10 714.3 JN-10 666. 7 10 |nch(1875) 647.6
12inch INL-12 [ 1119.0| JIN-12 | 1088. 1 12 inch(2091) [1309.6
15inch INL-15 IN-15 | 2309. 6 S I S
Vb ;a4 |5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3 ‘
ST |6 inch| 1L-06 |595.3 | 2L-06 |544.0 | 3L-06 | 642.9 ghpsKGonnacting Dise o
" DongShoke — © |8 inch| 1L-08 | 619.0 | 2L-08 | 542.9 | 3L-08 | 666.7 4 inch
Solid HydraulicGhuck | 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 ek 21.4
oY 5B 5 3a 4B 16 inch JLS-206 | 892.9 6 inch 21.4
s 55 Sl s S48 inch JLS-208 | 9404 8 inch 35.7
Hollow Hydraulic Chuck | 10inch JLS-210 | 1038.1 10 inch 476
12 inch 71.4

Sl Saisale ) DA sils

Hard Jaw For J\.z__ﬂ Syt
Hydraulic Chucks Usb
5 inch 102.4
6 inch 119.0
8 inch 131.0
». 10 inch 163.1
12 inch 204.7
ompensation 15 _inch 369.0
*&%ﬁﬁ%ﬁ%ﬁ g ::22 ggg_gg g%g:g Salson sla o8 o) Kb e i Sald .
. 5 inch JYL-05 | 738.1 | JY-05 714.3 | JYS-05 | 833.3  Fan Softyaw For Alagl Sen
PRI ﬁﬁiim U6 inch JYL-06 | 785.7 | JY-06 761.9 | JYS=06 | 904.7  veradie Chucs 5 inch —
Verfical Hollow  [8 inch JYL-08 | 928.6 | JY-08 904.7 | JYS-08 | 976. 1 .
Hydraulic Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 | JYS-10 | 1107.1 g'ir:g;]
4 5 R 3L 43|95 inch SBL-205KQL| 714.3 | SB-205KQL | 690.4 |SBS—-205KQL| 785.7 ' .
Gaok J_‘;T ‘.sjl;f 6 inch SBL—206K8L 773.9 | SB-206KQL | 750.0 |SBS-206KQL| 857. 1 10 inch
o IR R Eugn 118 inch SBL-208KQL| 904.7 | SB-208KQL | 881.0 |SBS-208KAL| 952.4 12 inch
Vertical <Siiba 5is Sla] 10inch SBL-210KQL| 976.1 | SB-210KAL | 952.4 |SBS-210KQL| 1071 4 15 inch
Salsona @uﬁfi@ﬁ%ﬁ/\& a°=120° a°=120° a°=120° a°=120° a°=120°
Sot JawrFe O\ § O@ L] 5 e S e il 6 Silue sils sl ey 8 Sulyua sila Gl e psialls 10 Solyu sila 6l e el 12 Slisi Al 1 a8 i alls
! ‘A \ 5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks
Myl Pl P Pl I poo el
usbD usb usb usbD
5H40 40 | 13.6 6H50 50 | 17.1 8H40 40 | 204 10H50 50 | 23.9 12H60 60 | 34.6
5H50 50 | 17.1 6H60 60 | 204 8H50 50 | 204 10H60 60 | 27.4 12H70 70 | 404
5H60 60 | 20.4 B6H70 70 | 23.9 8H60 60 | 23.9 10H70 70 | 31.0 12H80 80 | 47.6
~ 5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 80 | 34.6 12H90 90 | 596
SN2 Ol 05 ) S8 2 HBHB0 80 | 39.3 6H90 90 | 32.4 8H80 80 | 31.0 10H90 90 | 41.7 12H100 | 100 | 73.9
5H90 90 | 453 6H100 | 100 | 37.6 8H90 90 | 35.7 10H100 | 100 | 50.0 12H120 | 120 | 80.0

Ciand

Ty SH100 100 | 51.1 6H120 120 | 51.1 8H100 100 | 42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0

T FRENE 6H130 | 130 | 560 8H120 | 120 511 10H120 | 120 506 = "~ =~ "a=120"

% inch 30 | 103 6H150 | 150 | 61.9 8H130 | 130|547 10H130 | 130 | 681 1° = feubnier s
inen | so° | 36 | 119 8H140 | 140 | 654 10H150 | 150 | 80.0

g 'i';‘;h o0° | 38 | 139 8H150 | 150 | 69.0 10H170 | 170 [102.4

10 inch |120°| 42 | 16.1 8H200 | 200 1135.7 10H180 | 180 11096 J5H100 | 100 [154.7

12 inch 50 | 27.4 4 4B5H120 | 120 [170.3

15 inch 62 | 67.9 15H150 | 150 |257.1

Gownd 433 54 u;l‘.ﬁjl.a Jas 9 Jua Jali )'_7}'1.4 Cand,
O 03 el DY Aty Glalas G,

s iy aagl L e 435 a3 & 5em 0 @VA@MZGtool.cn http://www.mzg.tw



http://www.mzg.tw

Twitter

2 )ﬁi_j u.uLnS la L.: TSR JS QS\.»:\

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

